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BOOKS - PREMIERS PUBLISHERS

NATURE OF PHYSICAL WORLD AND

MEASUREMENT

Textbook Questions Answers I Multiple Choice Questions

1. One ofi the combinations from the fundamental

physical constants is . The unit of this expression

is

hc

G

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wFt5n9TolFCz


A. 

B. 

C. 

D. m

Answer: A

Watch Video Solution

kg2

m3

S − 1

2. If the error in the measurement of radius is 2%,

then the error in the determination of volume of the

pshere will be

A. 8 %

https://dl.doubtnut.com/l/_wFt5n9TolFCz
https://dl.doubtnut.com/l/_DUWGVSrb4zZU


B. 

C. 

D. 

Answer: D

Watch Video Solution

2 %

4 %

6 %

3. If the length and tiome period of an oscillating

pendulum have errors of 1% and 3% respectgively

then the error in measurement of acceleratinon due

to gravity is

A. 4 %

https://dl.doubtnut.com/l/_DUWGVSrb4zZU
https://dl.doubtnut.com/l/_7MFsMh0SgCtx


B. 

C. 

D. 

Answer: D

Watch Video Solution

5 %

6 %

7 %

4. The length of a body is measured as 3.51m, if the

acuracy is 0.01 m, then the percentage errof in the

measurement is

A. 

B. 

351 %

1 %

https://dl.doubtnut.com/l/_7MFsMh0SgCtx
https://dl.doubtnut.com/l/_dWBGVW4rCWZZ


C. 

D. 

Answer: C

Watch Video Solution

0.28 %

0.035 %

5. Which of the following has the highest number of

significant figures?

A. 

B. 

C. 

0.007m2

2.64 × 1024kg

0.0006032m2

https://dl.doubtnut.com/l/_dWBGVW4rCWZZ
https://dl.doubtnut.com/l/_pAmcAB08i4wc


D. 

Answer: D

Watch Video Solution

6.3200J

6. If , then the value of  is

A. 9.8596

B. 9.860

C. 9.86

D. 9.9

Answer: C

π = 3.14 π2

https://dl.doubtnut.com/l/_pAmcAB08i4wc
https://dl.doubtnut.com/l/_mfknhaCqiHbI


Watch Video Solution

7. Which of the following pairs of physical quantities

have same dimension?

A. force and power

B. torque and energy

C. torque and power

D. force and torque

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mfknhaCqiHbI
https://dl.doubtnut.com/l/_PWZQDWMWbGJP
https://dl.doubtnut.com/l/_TTnU266YpoS2


8. The dimensional formula of Planck's constand h is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ML2T − 1]

[ML2T − 3]

[MLT − 1]

[ML3T − 3]

9. The velocity of a particle v at a instant t is given by

. The dimension of b isv = at + bt2

https://dl.doubtnut.com/l/_TTnU266YpoS2
https://dl.doubtnut.com/l/_T5jLzEvreji6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[L]

[LT − 1]

[LT − 2]

[LT − 3]

10. The dimensional formual for gravitational constnat

G is

A. [ML3T − 2]

https://dl.doubtnut.com/l/_T5jLzEvreji6
https://dl.doubtnut.com/l/_lbvYEnJJN0ec


B. 

C. 

D. 

Answer: B

Watch Video Solution

[M − 1L3T − 2]

[M − 1L− 3T − 2]

[ML− 3T 2]

11. The density of material in CGS system of units is

. In a system of units in which unit of length is

10 cm and unit of mass is 100 gm, then the value of

density of material will be

A. 0.04

4gcm− 3

https://dl.doubtnut.com/l/_lbvYEnJJN0ec
https://dl.doubtnut.com/l/_Bcxze4oIAfzw


B. 0.4

C. 40

D. 400

Answer: C

Watch Video Solution

12. If the force is proportional to square of velocity,

the the dimensional of proportionality constant is

A. 

B. 

[MLT 0]

[MLT − 1]

https://dl.doubtnut.com/l/_Bcxze4oIAfzw
https://dl.doubtnut.com/l/_jvryYRRbehWi


C. 

D. 

Answer: D

Watch Video Solution

[ML− 2T ]

[ML− 1T 0]

13. The dimension of  is

A. length

B. time

C. velocity

D. force

(μ( ∘ )E∘ ) − 1
2

https://dl.doubtnut.com/l/_jvryYRRbehWi
https://dl.doubtnut.com/l/_8BukEeemmjja


Answer: C

Watch Video Solution

14. Plank's constant (h), speed of light in vacuum (c)

and Newton's gravitational constant (G) are taken as

three fundamental constants. 

Which of the following combinations of these has the

dimensions of length?

A. 

B. 

C. 

√hG

c
3
2

√
hG

c
5
2

√
hc

G

https://dl.doubtnut.com/l/_8BukEeemmjja
https://dl.doubtnut.com/l/_saTUwnAEfw5E


D. 

Answer: A

Watch Video Solution

√
Gc

h
3
2

15. A length -scale (l) depends on the permittivity 

of a dielectric material, Boltzmann constant , the

absolute temperature (T), the number pr unit volume

(n) of certain charged paticles, and the charge (q)

carried by each of the particles. Which of the

following expression for l is dimensionally correct?

A. 

(ε)

(kB)

l = √
nq2

εkBT

https://dl.doubtnut.com/l/_saTUwnAEfw5E
https://dl.doubtnut.com/l/_r81HqybRWAKq


B. 

C. 

D. 

Answer: B

Watch Video Solution

l = √
εk0T

nq2

l = √
q2

εn kBT
2
3

l = √
q2

εnkBT

16. One ofi the combinations from the fundamental

physical constants is . The unit of this expression

is

A. 

hc

G

kg2

https://dl.doubtnut.com/l/_r81HqybRWAKq
https://dl.doubtnut.com/l/_5hMhLbbV23Il


B. 

C. 

D. m

Answer: A

Watch Video Solution

m3

S − 1

17. If the error in the measurement of radius is 2%,

then the error in the determination of volume of the

pshere will be

A. 

B. 

8 %

2 %

https://dl.doubtnut.com/l/_5hMhLbbV23Il
https://dl.doubtnut.com/l/_AYK8K397vL24


C. 

D. 

Answer: D

Watch Video Solution

4 %

6 %

18. If the length and tiome period of an oscillating

pendulum have errors of 1% and 3% respectgively

then the error in measurement of acceleratinon due

to gravity is

A. 

B. 

4 %

5 %

https://dl.doubtnut.com/l/_AYK8K397vL24
https://dl.doubtnut.com/l/_PLvkLhegKsRb


C. 

D. 

Answer: D

Watch Video Solution

6 %

7 %

19. The length of a body is measured as 3.51m, if the

acuracy is 0.01 m, then the percentage errof in the

measurement is

A. 

B. 

C. 

351 %

1 %

0.28 %

https://dl.doubtnut.com/l/_PLvkLhegKsRb
https://dl.doubtnut.com/l/_qnxLcHqO0SYB


D. 

Answer: C

Watch Video Solution

0.035 %

20. Which of the following has the highest number of

significant figures?

A. 

B. 

C. 

D. 

0.007m2

2.64 × 1024kg

0.0006032m2

6.3200J

https://dl.doubtnut.com/l/_qnxLcHqO0SYB
https://dl.doubtnut.com/l/_iiDFGIC6GkEu


Answer: D

Watch Video Solution

21. If , then the value of  is

A. 9.8596

B. 

C. 9.86

D. 9.9

Answer: C

Watch Video Solution

π = 3.14 π2

9.860

https://dl.doubtnut.com/l/_iiDFGIC6GkEu
https://dl.doubtnut.com/l/_z177gpBtiDzW


22. Which of the following pairs of physical quantities

have same dimension?

A. force and power

B. torque and energy

C. torque and power

D. force and torque

Answer: B

Watch Video Solution

23. The dimensional formula of Planck's constand h is

https://dl.doubtnut.com/l/_Rj3DSuIvDkHZ
https://dl.doubtnut.com/l/_WcG7i1Odsvdy


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ML2T − 1]

[ML2T − 3]

[MLT − 1]

[ML3T − 3]

24. The velocity of a particle v at a instant t is given by

. The dimension of b is

A. 

v = at + bt2

[L]

https://dl.doubtnut.com/l/_WcG7i1Odsvdy
https://dl.doubtnut.com/l/_qa0KwafjAoTr


B. 

C. 

D. 

Answer: D

Watch Video Solution

[LT − 1]

[LT − 2]

[LT − 3]

25. The dimensional formual for gravitational

constnat G is

A. 

B. 

[ML3T − 2]

[M − 1L3T − 2]

https://dl.doubtnut.com/l/_qa0KwafjAoTr
https://dl.doubtnut.com/l/_RKCFKe7wdm6p


C. 

D. 

Answer: B

Watch Video Solution

[M − 1L− 3T − 2]

[ML− 3T 2]

26. The density of material in CGS system of units is

. In a system of units in which unit of length is

10 cm and unit of mass is 100 gm, then the value of

density of material will be

A. 0.04

B. 0.4

4gcm− 3

https://dl.doubtnut.com/l/_RKCFKe7wdm6p
https://dl.doubtnut.com/l/_3x7T9aJdvFwg


C. 40

D. 400

Answer: C

Watch Video Solution

27. If the force is proportional to square of velocity,

the the dimensional of proportionality constant is

A. 

B. 

C. 

[MLT 0]

[MLT − 1]

[ML− 2T ]

https://dl.doubtnut.com/l/_3x7T9aJdvFwg
https://dl.doubtnut.com/l/_fntqSUuWKN5t


D. 

Answer: A

Watch Video Solution

[ML− 1T 0]

28. The dimension of  is

A. length

B. time

C. velocity

D. force

Answer: C

1

μ0ε0

https://dl.doubtnut.com/l/_fntqSUuWKN5t
https://dl.doubtnut.com/l/_nXKGPCCZZHEk


Watch Video Solution

29. Plank's constant (h), speed of light in vacuum (c)

and Newton's gravitational constant (G) are taken as

three fundamental constants. 

Which of the following combinations of these has the

dimensions of length?

A. 

B. 

C. 

D. 

√hG

c
1
2

√
hG

c
5
2

√
hG

G


⎷

Gc

h3

2

https://dl.doubtnut.com/l/_nXKGPCCZZHEk
https://dl.doubtnut.com/l/_tDfKULmryNOc


Answer: A

Watch Video Solution

30. A length -scale (l) depends on the permittivity 

of a dielectric material, Boltzmann constant , the

absolute temperature (T), the number pr unit volume

(n) of certain charged paticles, and the charge (q)

carried by each of the particles. Which of the

following expression for l is dimensionally correct?

A. 

B. 

(ε)

(kB)

l = √
nq2

εkBT

l = √
εk0T

nq2

https://dl.doubtnut.com/l/_tDfKULmryNOc
https://dl.doubtnut.com/l/_zVpF0ZKf4web


Textbook Questions Answers Ii Short Answer Questions

C. 

D. 

Answer: B

Watch Video Solution

l = √
q2

εn kBT
2
3

l = √
q2

εnkBT

1. Briefly explain the types of physical quantities.

Watch Video Solution

https://dl.doubtnut.com/l/_zVpF0ZKf4web
https://dl.doubtnut.com/l/_ruPAvw8ZgWyf


2. How will you measure the diameter of the Moon

using parallax method?

Watch Video Solution

3. Write the rules for determining significant figures.

Watch Video Solution

4. What are the limitations of dimensional analysis?

Watch Video Solution

https://dl.doubtnut.com/l/_0ISeeQe2mQiI
https://dl.doubtnut.com/l/_0M0E0eyajHTe
https://dl.doubtnut.com/l/_CpldN4Pi8abG
https://dl.doubtnut.com/l/_8KiJ20IaMLqQ


5. Define precision and accuracy. Exp,ain with one

example.

Watch Video Solution

6. Briefly explain the types of physical quantities.

Watch Video Solution

7. How will measure the diameter of the Moon using

parallax method?

Watch Video Solution

https://dl.doubtnut.com/l/_8KiJ20IaMLqQ
https://dl.doubtnut.com/l/_g65h5bRgq1Zo
https://dl.doubtnut.com/l/_ZOkNLe2PcQeq
https://dl.doubtnut.com/l/_0NWbNJwXy0Dt


Textbook Questions Answers Iii Long Answer Questions

8. Write the rules for determining significant figures.

Watch Video Solution

9. What are the limitations of dimensional analysis?

Watch Video Solution

10. Define precision and accuracy. Exp,ain with one

example.

Watch Video Solution

https://dl.doubtnut.com/l/_0NWbNJwXy0Dt
https://dl.doubtnut.com/l/_wbhuWY4mZU2q
https://dl.doubtnut.com/l/_CVB7bKFZeKc1


1. (i) Explain the use of screw gauge and vernier

caliper in measuring smaller distances. 

(ii) Write a note on triangultion method and radar

method to measure larger distances.

Watch Video Solution

2. Write a note on triangulation method and radar

method to measure larger distances.

View Text Solution

https://dl.doubtnut.com/l/_z8XmopmhlLo2
https://dl.doubtnut.com/l/_gbc66ywhAypL


3. Explain in detail the various types of errors.

Watch Video Solution

4. What do you mean by propagation of errors?

Explain the propagation of errors in addition and

multiplication.

Watch Video Solution

5. Write short notes on the following. 

(i) Unit

Watch Video Solution

https://dl.doubtnut.com/l/_EkYz5RSvulIv
https://dl.doubtnut.com/l/_oEGvnZMEOi6n
https://dl.doubtnut.com/l/_VUgOmwmPiiCb


6. Write short notes on the following. 

(ii) Rounding - off

Watch Video Solution

7. Write short notes on the following. 

(iii) Dimensionless quantities.

Watch Video Solution

8. Explain the principle of homogeneity of dimensions.

What are its uses? Given example.

https://dl.doubtnut.com/l/_VUgOmwmPiiCb
https://dl.doubtnut.com/l/_ccMNPbYGpYo4
https://dl.doubtnut.com/l/_gZq6k8EcWUFI
https://dl.doubtnut.com/l/_OrsSMl2ndrry


Watch Video Solution

9. (i) Explain the use of screw gauge and vernier

caliper in measuring smaller distances. 

(ii) Write a note on triangultion method and radar

method to measure larger distances.

Watch Video Solution

10. (i) Explain the use of screw gauge and vernier

caliper in measuring smaller distances. 

(ii) Write a note on triangultion method and radar

method to measure larger distances.

https://dl.doubtnut.com/l/_OrsSMl2ndrry
https://dl.doubtnut.com/l/_gck0haOLem0x
https://dl.doubtnut.com/l/_l4bNlo1oj9DV


Watch Video Solution

11. Explain in detail the various types of errors.

Watch Video Solution

12. What do you mean by propagation of errors?

Explain the propagation of errors in addition and

multiplication.

Watch Video Solution

https://dl.doubtnut.com/l/_l4bNlo1oj9DV
https://dl.doubtnut.com/l/_6ZnARN66VrJl
https://dl.doubtnut.com/l/_kWQdeWdJV4Kc


13. Write short notes on the following: 

a. Unit 

b. Rounding -off 

c. Dimensionless quantities

Watch Video Solution

14. Write short notes on the following: 

a. Unit 

b. Rounding -off 

c. Dimensionless quantities

Watch Video Solution

https://dl.doubtnut.com/l/_JgG9r3d2uWhy
https://dl.doubtnut.com/l/_sl3YXcxLZLgy
https://dl.doubtnut.com/l/_kbJFZci3lDEV


Textbook Questions Answers Iv Numerical Problems

15. Write short notes on the following. 

(iii) Dimensionless quantities.

Watch Video Solution

16. Explain the principle of homogeneity of

dimensions. What are its uses? Given example.

Watch Video Solution

https://dl.doubtnut.com/l/_kbJFZci3lDEV
https://dl.doubtnut.com/l/_j2OSbIrL2gZr


1. In a submarine equipped with sonar, the time delay

between the generation of a pulse and its echo after

reflection from an eneny submarine is observed to be

80 sec. If the speed of sound in water is .

What is the distance of enemy submarine?

Watch Video Solution

1460ms− 1

2. The radius of the circle is 3.12 m. Calculate the area

of the circkle with regard to significant figures.

Watch Video Solution

https://dl.doubtnut.com/l/_nQPzvzUGsB6I
https://dl.doubtnut.com/l/_sOhQNXKCj5HA


3. Assuming that the frequency  of a vibrating string

may depend upon (i) applied force (F) (ii) length (l) (iii)

mass per unit lengt (m), prove that 

using dimensional analysis.

Watch Video Solution

γ

γ ∝ √
1

l

F

m

4. Jupiter is at a distance of 824.7 million km from the

Earth. Its angular diameter is measured to be 35.72".

Calculate the diameter of Jupiter.

Watch Video Solution

https://dl.doubtnut.com/l/_O9k3GQ2P8uiv
https://dl.doubtnut.com/l/_lS6qY0HIIaln


5. The measurement value of length of a simple

pendulum is 20 cm known with 2 mm accuracy. The

time for 50 oscillations was measured to be 40 s

within 1s resolution. Calculate the percentage

accuracy in the determination of acceleration due to

gravity g from the above measurement.

Watch Video Solution

6. In a submarine equipped with sonar, the time delay

between the generation of a pulse and its echo after

reflection from an eneny submarine is observed to be

https://dl.doubtnut.com/l/_whtq4N7ufYtD
https://dl.doubtnut.com/l/_zmtLOnyLjAF4


80 sec. If the speed of sound in water is .

What is the distance of enemy submarine?

Watch Video Solution

1460ms− 1

7. The radius of the circle is 3.12 m. Calculate the area

of the circkle with regard to significant figures.

Watch Video Solution

8. Assuming that the frequency  of a vibrating string

may depend upon (i) applied force (F) (ii) length (l) (iii)

mass per unit lengt (m), prove that 

using dimensional analysis.

γ

γ ∝ √
1

l

F

m

https://dl.doubtnut.com/l/_zmtLOnyLjAF4
https://dl.doubtnut.com/l/_GkoC43UQaRQw
https://dl.doubtnut.com/l/_fYiep1gVXw6I


Watch Video Solution

9. Jupiter is at a distance of 824.7 million km from the

Earth. Its angular diameter is measured to be 35.72".

Calculate the diameter of Jupiter.

Watch Video Solution

10. The measurement value of length of a simple

pendulum is 20 cm known with 2 mm accuracy. The

time for 50 oscillations was measured to be 40 s

within 1s resolution. Calculate the percentage

https://dl.doubtnut.com/l/_fYiep1gVXw6I
https://dl.doubtnut.com/l/_0buYFjkAPeQj
https://dl.doubtnut.com/l/_ML6kqAMmaKx8


Textbook Questions Answers V Conceptual Questions

accuracy in the determination of acceleration due to

gravity g from the above measurement.

Watch Video Solution

1. Why is it convenient to express the distance of stars

in terms of light year (or) parsec rather than in km?

Watch Video Solution

2. Show that a screw gauge of pitch I mm and 100

divisions is more precise than a vernier caliper with 20

https://dl.doubtnut.com/l/_ML6kqAMmaKx8
https://dl.doubtnut.com/l/_B1IEhUNBEgUq
https://dl.doubtnut.com/l/_nMB7mVRpvN78


divisions on the sliding scale.

Watch Video Solution

3. If humans were to settle on other planets, which of

the fundamental quantities will be in trouble? Why?

Watch Video Solution

4. Having all units in atomic standards in more useful.

Expalin.

Watch Video Solution

https://dl.doubtnut.com/l/_nMB7mVRpvN78
https://dl.doubtnut.com/l/_NnqqESZWZEQL
https://dl.doubtnut.com/l/_IUmZFTzo8D0p
https://dl.doubtnut.com/l/_N46OCH5kjTuy


5. Why dimensional methods are applicable only up to

three quantities?

Watch Video Solution

6. Why is it convenient to express the distance of stars

in terms of light year (or) parsec rather than in km?

Watch Video Solution

7. Show that a screw gauge of pitch I mm and 100

divisions is more precise than a vernier caliper with 20

divisions on the sliding scale.

W t h Vid S l ti

https://dl.doubtnut.com/l/_N46OCH5kjTuy
https://dl.doubtnut.com/l/_7j0bE5nQ6uNA
https://dl.doubtnut.com/l/_EiwZcO6Dltvc


Watch Video Solution

8. If humans were to settle on other planets, which of

the fundamental quantities will be in trouble? Why?

Watch Video Solution

9. Having all units in atomic standards in more useful.

Expalin.

Watch Video Solution

https://dl.doubtnut.com/l/_EiwZcO6Dltvc
https://dl.doubtnut.com/l/_RTkzVlomTJaQ
https://dl.doubtnut.com/l/_nttF6KMZVAZE


Other Important Questions Answers I Multiple Choice

Questions

10. Why dimensional methods are applicable only up

to three quantities?

Watch Video Solution

1. Any scientific method involves : 

(i) controlled experimentation 

(ii) calculation of values with least accuracy 

(iii) systematic observation 

https://dl.doubtnut.com/l/_ooCYZKRIle15
https://dl.doubtnut.com/l/_0Q3HrmQqYDvT


(iv) mathematical modeling 

Which of the following statements are correct?

A. (i), (ii) and (iii) are correct

B. (i), (ii) and (iv) are correct

C. (i), (iii) and (iv) are correct

D. (i) and (ii) are correct

Answer: C

Watch Video Solution

2. The word physics is derived from ……….. Meaning

nature.

https://dl.doubtnut.com/l/_0Q3HrmQqYDvT
https://dl.doubtnut.com/l/_a6AXNhe77TsA


A. to know

B. fusis

C. knowing the truth

D. prediction

Answer: B

Watch Video Solution

3. Which of the following is true?

A. dealing with non - living things

B. dealing with living things

https://dl.doubtnut.com/l/_a6AXNhe77TsA
https://dl.doubtnut.com/l/_msULBU2lObXu


C. study with atomic level

D. both (a) and (b)

Answer: A

Watch Video Solution

4. An attemp to explain a Macroscopic system in

terms of its Microscopic constituents is _____________.

A. unification

B. macrocosm

C. reductionism

https://dl.doubtnut.com/l/_msULBU2lObXu
https://dl.doubtnut.com/l/_H1PLQN06oVvU


D. microcosm

Answer: C

Watch Video Solution

5. Special theory of relativity is a branch of Physics. It

does not deal with:

A. space

B. motion of plantes

C. mass

D. time

https://dl.doubtnut.com/l/_H1PLQN06oVvU
https://dl.doubtnut.com/l/_dmPYlXRdytqN


Answer: B

Watch Video Solution

6. The fraction of  of temperature of the triple

point of water is expressed in ……….. Scale of

temperature.

A. celsius

B. fahrenheit

C. centigrade

D. kelvin

Answer: D

1

273.16

https://dl.doubtnut.com/l/_dmPYlXRdytqN
https://dl.doubtnut.com/l/_a2dhm9ZCfXzL


Watch Video Solution

7. Which one of the following statement correct

A. Time and mass

B. Length and time

C. Area and volume

D. Mass and time

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_a2dhm9ZCfXzL
https://dl.doubtnut.com/l/_bPWoP64dy4e6


8. Which of the following is wrong matched?

A. Chemistry - arrange elements in periodic table

B. Geology - crystal structure of various rocks

C. Oceanography - movements of neurotramitters

D. Biology - electron microscope

Answer: C

Watch Video Solution

9. ……….. System of units was accepted by the scientists

of the general conference on weights and measures.

https://dl.doubtnut.com/l/_45vRTj6Z5nHO
https://dl.doubtnut.com/l/_A8gZyGCm7uSh


A. FPS

B. CGS

C. MKS

D. SI

Answer: D

Watch Video Solution

10. A source having luminous intensity of one candela

emits monochromatic radiation of frequency is :

A. 5.4 × 1014Hz

https://dl.doubtnut.com/l/_A8gZyGCm7uSh
https://dl.doubtnut.com/l/_ucvCJnMKlQos


B. 

C. 

D. 

Answer: A

Watch Video Solution

54 × 1014Hz

4.5 × 1014Hz

Hz
1

683

11. When a current of 1 ampere flowing through two

parallel straight conductors : What amount of force

per unit length acts between the conductors?

A. 

B. 

1 × 10− 7N

2 × 10− 7N

https://dl.doubtnut.com/l/_ucvCJnMKlQos
https://dl.doubtnut.com/l/_mNAos6ItsuyD


C. 

D. 

Answer: B

Watch Video Solution

3 × 107N

4 × 10− 7N

12. Match the following physical quantities with

respect to relative units: 

 


https://dl.doubtnut.com/l/_mNAos6ItsuyD
https://dl.doubtnut.com/l/_nYjaihG78aii


A. 1 - (iv), 2 - (v), 3 - (iv), 4 - (ii)

B. 1 - (ii), 2 - (v), 3 - (vi), 4 - (i)

C. 1 - (v), 2 - (i), 3 - (iv), 4 - (vi)

D. 1 - (ii), 2 - (v), 3 - (iv), 4 - (i)

Answer: D

Watch Video Solution

13. One pico farad is equal to ………….. Farad.

A. 

B. 

10− 18

10− 12

https://dl.doubtnut.com/l/_nYjaihG78aii
https://dl.doubtnut.com/l/_sU5qV74evsAX


C. 

D. 

Answer: B

Watch Video Solution

10− 6

10− 24

14. Match the following : 

A. 1 - (vi), 2 - (iii), 3 - (ii), 4 - (v)

https://dl.doubtnut.com/l/_sU5qV74evsAX
https://dl.doubtnut.com/l/_CuAUtlsIOrcK


B. 1 - (iv), 2 - (i), 3 - (vi), 4 - (v)

C. 1 - (v), 2 - (iv), 3 - (i), 4 - (vi)

D. 1 - (v), 2 - (ii), 3 - (i), 4 - (iii)

Answer: C

Watch Video Solution

15. The value of Planck's constant is .

A. jouble per second

B. joule second

C. metre per second

___________

https://dl.doubtnut.com/l/_CuAUtlsIOrcK
https://dl.doubtnut.com/l/_gzyU6jvk8d1v


D. watt second

Answer: B

Watch Video Solution

16. Universal time is based on :

A. rotation of the earth on its own axis

B. earth's orbital motion around the sun

C. vibration of cesium atom

D. oscillation of quartz clock

Answer: C

https://dl.doubtnut.com/l/_gzyU6jvk8d1v
https://dl.doubtnut.com/l/_EUaOADSQ47BO


Watch Video Solution

17. 1 pascal is equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1Nm− 2

1Jm− 2

1Nm− 1

1Jm− 1

https://dl.doubtnut.com/l/_EUaOADSQ47BO
https://dl.doubtnut.com/l/_SyeqsgrqO7sf


18. Choose the correct statement from the following

statements :

A. S.I. unit of gravitational potential is J sec

B. S.I. unit of gravitational potential is J kg

C. S.I. unit of gravitational potential is Watt metre

D. S.I. unit of gravitation potential is 

Answer: D

Watch Video Solution

J kg− 1

https://dl.doubtnut.com/l/_nvgPnZpEUdap


19. Which one of the following doesn't has the same

unit as others?

A. J - sec

B. watt - sec

C. kWh

D. eV

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ExFM8QxKVFuT


20. Which of the following statements are correct? 

(i) A physical quantity cannot be measured 

(ii) A physical quantity can be measured 

(iii) The units of physical quantity can be derived 

(iv) A physical quantity can neither be a scalar nor a

vector

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iv)

D. (ii) and (iv)

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_mrbrnwLKPUs9


Watch Video Solution

21. Inertia has the same unit as:

A. weight

B. force

C. mass

D. acceleration

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mrbrnwLKPUs9
https://dl.doubtnut.com/l/_4CfOGT58iYRa


22. Which of the following pairs of quantities and

their units is a proper match?

A. Electric charge - C

B. Pressure - Pa

C. Power - 

D. Moment of inertia 

Answer: D

Watch Video Solution

JS − 1

−kgm− 2

https://dl.doubtnut.com/l/_81XXZ00cUUUU


23. Choose the odd man out from the following

physical quantities:

A. Mass

B. Length

C. Velocity

D. Time

Answer: C

Watch Video Solution

24. Which one of the following relations is wrong?

https://dl.doubtnut.com/l/_Bv3adMFE1kdJ
https://dl.doubtnut.com/l/_HcVOKsaHKysC


A. 1 fermi 

B. 1 nanometer 

C. 1 AU 

D. 1 parsec = 3.26 light year

Answer: A

Watch Video Solution

= 10− 14m

= 10− 9m

= 1.496 × 1011m

25. 1 CSL is the largest practical unit of :

A. time and length

B. mass only

https://dl.doubtnut.com/l/_HcVOKsaHKysC
https://dl.doubtnut.com/l/_5d1pLcJs4ZZX


C. temperature and mass

D. intensity of radiation and length

Answer: B

Watch Video Solution

26. Match the physical quantities in column I with

their S.I. units in column II. 

https://dl.doubtnut.com/l/_5d1pLcJs4ZZX
https://dl.doubtnut.com/l/_Ao6Y7Q7STFbK


A. 1 - (i), 2 - (vi), 3 - (v), 4 - (ii)

B. 1 - (ii), 2 - (v), 3 - (vi), 4 - (i)

C. 1 - (v), 2 - (vi), 3 - (i), 4 - (ii)

D. 1 - (v), 2 - (i), 3 - (ii), 4 - (iii)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Ao6Y7Q7STFbK


27. 1 minute = ……….rad.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.745 × 10− 2

4.85 × 10− 6

1.91 × 10− 4

2.91 × 10− 4

https://dl.doubtnut.com/l/_Ao6Y7Q7STFbK
https://dl.doubtnut.com/l/_f3tt7BhbM93Z


28. (I) Least count of screw gauge is 0.01 mm 

(II) Least count of vernier calliper is 0.1mm 

Which one is correct?

A. 0.01 mm

B. 0.01 cm

C. 0.1 mm

D. 1 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CSiCTfkkDayp


29. From the following statements, choose the

incorrect statement:

A. Sonar emits ultra sound waves

B. The size of galaxy is  metre.

C. Sonar emits radio waves

D. The length of a typical virus is  m

Answer: C

Watch Video Solution

10− 2

10− 8

30. Least cound of metre scale is :

https://dl.doubtnut.com/l/_b5jxpIKk7FEP
https://dl.doubtnut.com/l/_i3Q54mb5CR6y


A. 1 cm

B. 0.1 cm

C. 1 mm

D. 0.1 mm

Answer: C

Watch Video Solution

31. The ratio of the dimension of planck constant and

that of moment of inertia is the dimension of ……….

A. time

https://dl.doubtnut.com/l/_i3Q54mb5CR6y
https://dl.doubtnut.com/l/_lhv7u0Aoe2PA


B. frequency

C. velocity

D. angular momentum

Answer: B

Watch Video Solution

32. Select the incorrect statement from the following

statements : 

(i) The radius of a rain drop is  


(ii) The mass of a neutron is  


(iii) The average distance of Pluto's orbit is  


(iv) The diameter of the hydrogen atom is 

10− 6m

1027kg

1012m

10− 10m

https://dl.doubtnut.com/l/_lhv7u0Aoe2PA
https://dl.doubtnut.com/l/_uMZkEiCGwPIV


A. Statements (i) and (ii) are incorrect

B. Statements (ii) and (iii) are incorrect

C. Statement (ii) only incorrect

D. Statements (ii) and (iv) are incorrect

Answer: C

Watch Video Solution

33. The angle subtended by a coin of radius 1 cm held

at a distance of 80 cm from your eyes is :

A. 1.25 rad

https://dl.doubtnut.com/l/_uMZkEiCGwPIV
https://dl.doubtnut.com/l/_DLDlVWCVhvhP


B. 0.125 rad

C. 

D. 

Answer: B

Watch Video Solution

0.0125∘

0.025∘

34. The density of a liquid in CGS system is

. What is its magnitude in SI system?

A. 

B. 

0.625g/cm3

625kg/m3

0.0625kg/m3

https://dl.doubtnut.com/l/_DLDlVWCVhvhP
https://dl.doubtnut.com/l/_w2oUONSLrx9A


C. 

D. 

Answer: A

Watch Video Solution

0.0625kg/m3

0.00625kg/m3

35. From the following units, select the odd man out.

A. Light year

B. Astronomical unit

C. Parsec

D. CSI (Chandrasekar's limit)

https://dl.doubtnut.com/l/_w2oUONSLrx9A
https://dl.doubtnut.com/l/_quW1eoiBNv4L


Answer: D

Watch Video Solution

36. If  newton- second, then the

number x is equal to:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 g cm s − 1 = x

105

1010

1015

10− 5

https://dl.doubtnut.com/l/_quW1eoiBNv4L
https://dl.doubtnut.com/l/_Jo753DJ19c2T


Watch Video Solution

37. Which one of the following is not the unit of

energy ?

A. Light year

B. Astronomical unit

C. Parsec

D. all of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Jo753DJ19c2T
https://dl.doubtnut.com/l/_SnnwqVS0Fjxc


38. The respective number of significant figures for

the number 13.013, 0.0003 and  are

respectively:

A. 5, 1, 2

B. 5, 4, 5

C. 5, 5, 2

D. 5, 1, 3

Answer: A

Watch Video Solution

9.1 × 10− 3

https://dl.doubtnut.com/l/_TNj0FQEyq3Zc


39. A student measured the length of a wire and

wrote it as 2.50 can which instrument did he/she use

to measure it?

A. a screw gauge having 50 division in the circular

scale and pitch as 1 mm.

B. a meter scale

C. a vernier caliper where the 10 division in vernier

matches with a division in main scale.

D. a screw gauge having 100 division in the circular

scale and pitch as 1 mm.

Answer: B

https://dl.doubtnut.com/l/_HGjemVNdnJtt


Watch Video Solution

40. If the error in the measurement of radius of a

sphere is  then the error in the measurement of

volume of the sphere will be :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3 %

4 %

6 %

2 %

9 %

https://dl.doubtnut.com/l/_HGjemVNdnJtt
https://dl.doubtnut.com/l/_fMidv69TQMug


41. The diameter of the steel ball is measured using a

vernier caliper which has divisions of 0.1 cm on its

main scale nad 10 division of its vernier scale match 9

division on the main scale. Three such measurements

for a ball are as follows. 

 


If the zero error is , then mean corrected

diameter is ............. cm.

A. 0.56

B. 0.53

0.03cm

https://dl.doubtnut.com/l/_fMidv69TQMug
https://dl.doubtnut.com/l/_oBxyNVQtoaiM


C. 0.59

D. 0.52

Answer: C

Watch Video Solution

42. If  and , then 

.

A. 4.4

B. 4

C. 4.43

A = 2.331cm C = 2.1cm

A + C = ……. . cm

https://dl.doubtnut.com/l/_oBxyNVQtoaiM
https://dl.doubtnut.com/l/_3r8Cuj7AWjTX


D. 4.431

Answer: A

Watch Video Solution

43. Match the following units given in the column I

with dimesnions in the column II. 

A. I - (vi), 2 - (iv), 3 - (i), 4 - (ii)

https://dl.doubtnut.com/l/_3r8Cuj7AWjTX
https://dl.doubtnut.com/l/_GFMa7O7uHuEl


B. 1 - (v), 2 - (iv), 3 - (ii), 4 - (vi)

C. 1 - (vi), 2 - (i), 3 - (v), 4 - (ii)

D. 1 - (iv), 2 - (iii), 3 - (vi), 4 - (i)

Answer: A

Watch Video Solution

44. The least count of stop watch is 0.5s. The time of

40 oscillation of the pendulum is found to be 40s. The

percentage error in the measurement of time period

is ……………… 

A. 0.75

%

https://dl.doubtnut.com/l/_GFMa7O7uHuEl
https://dl.doubtnut.com/l/_CRhE8vi9xidY


B. 0.5

C. 1.25

D. 0.25

Answer: C

Watch Video Solution

45. Assertion : SI system of units is a coherent system

of units. 

Reason : In this system, all the derived units can be

easily obtained from basic and supplementary units.

A. Assertion is true and reason is false

https://dl.doubtnut.com/l/_CRhE8vi9xidY
https://dl.doubtnut.com/l/_XKieSVBWhuQ9


B. Assertion is false and reason is true.

C. Assertion is true and reason is the correct

explanation of assertion

D. Assertion is true and reason is true but not the

correct explanation of assertion.

Answer: C

Watch Video Solution

46. The sum of the numbers 436.32, 227.2 and 0.301 in

appropriate significant figure is :

https://dl.doubtnut.com/l/_XKieSVBWhuQ9
https://dl.doubtnut.com/l/_nwEsO2n4GvCQ


A. 663.82

B. 663.8

C. 664

D. 6663.82

Answer: C

Watch Video Solution

47. Gross error can be eliminated by :

A. careful observation and mental alert

B. eliminating the cause

https://dl.doubtnut.com/l/_nwEsO2n4GvCQ
https://dl.doubtnut.com/l/_mNSM7pDQo6lf


C. taking mean

D. measuring with more than one instrument

Answer: A

Watch Video Solution

48. The unit of permittivity of free space,  is

A. Coulumb² / (Newton − metre)²

B. Coulumb / Newton − metre

C. Newton − metre² / Coulumb²

D. Coulumb² / Newton − metre²

ε0

https://dl.doubtnut.com/l/_mNSM7pDQo6lf
https://dl.doubtnut.com/l/_F1AMQvYbLKaW


Answer: D

Watch Video Solution

49. High precision instruments are used to eliminate

…………….. Error.

A. personal

B. random

C. chance

D. least count

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_F1AMQvYbLKaW
https://dl.doubtnut.com/l/_xXUYErnZ6J0Y


Watch Video Solution

50. Assertion : The length of a cylinder is 23.8 cm. In

this measurement there are three significant figures. 

Reason : The same length when expressed in

millimeter as 23800 mm has four significant figures. 

Which of the following is correct?

A. Assertion is true and reason is true.

B. Assertion is true and reason is false

C. Assertion is true and reason is correct

explanation for assertion.

https://dl.doubtnut.com/l/_xXUYErnZ6J0Y
https://dl.doubtnut.com/l/_Ic6xaOjLUs3c


D. Assertion is true and reason is true but it is not

correct explanation for assertion.

Answer: B

Watch Video Solution

51. Round off to the number 12.653 upto 3 digits:

A. 12.5

B. 

C. 12.7

D. 12.6

12.0

https://dl.doubtnut.com/l/_Ic6xaOjLUs3c
https://dl.doubtnut.com/l/_yOzvLpLjxZ6C


Answer: C

Watch Video Solution

52. If , then the relative error in f is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f = x2

2Δx

x

(Δx)
2

x

Δx

x

(Δx)
2

https://dl.doubtnut.com/l/_yOzvLpLjxZ6C
https://dl.doubtnut.com/l/_sshLxEjJW7Yy


53. The length and breadth of a rectangle are 6.01 m

and 12 m. Taking the significant figure into account

the area of the rectangle is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

72.00m2

72.1m2

72m2

72.12m2

https://dl.doubtnut.com/l/_NAHfRPIKvKah


54. Which of the following digits are significant?

A. zero digits

B. zeros at the end without a decimal point

C. all zeros between two non - zeros digits,

irrespective of the decimal point

D. all the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_O0IIxj4UTp0c


55. Column I gives three physical quantities. Select the

appropriate units for the choices given in column II. 

Some of the physical quantities may have more than

one choice correct. 

A. 1 - (iv), 2 - (iii), 3 - (ii) and (i)

B. 1 - (i) and (v), 2 - (iv), 3 - (ii) and (iii)

C. 1 - (ii) and (v), 2 - (i) and (ii), 3 - (i) and (v)

D. 1 - (iv) and (v), 2 - (ii), 3 - (iii) and (iv)

Column I Column II

1. Inductance (i) Ohm (second)

2. Magnetic induction (ii) Coulomb
2
(joule)

− 1

3. Capacitance (iii) Coulomb (volt)
− 1

(iv) Newton (ampere metre)
− 1

(v) Volt second (ampere)
− 1

https://dl.doubtnut.com/l/_UXbIZdomr1Lq


Answer: B

Watch Video Solution

56. The dimensional formula for relative density is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ML− 3

M 0L− 3

M 0L0T 0

M 0L0T − 1

https://dl.doubtnut.com/l/_UXbIZdomr1Lq
https://dl.doubtnut.com/l/_j9zf2quQjSV0


57. The dimensions of Hubble's constant are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[M 0L0T ]

[M 0L0T − 1]

[MLT 2]

[MLT − 1]

58. The dimensional formula of Planck's constand h is

A. energy

https://dl.doubtnut.com/l/_HoNUyvBO0vjF
https://dl.doubtnut.com/l/_iupbWTqZKefT


B. power

C. angular momentum

D. momentum

Answer: C

Watch Video Solution

59. Match the physical quantities given in column I

with dimensions given in column II. (Dimension of

https://dl.doubtnut.com/l/_iupbWTqZKefT
https://dl.doubtnut.com/l/_mFNLFOBhbVus


charge is Q) 

A. 1 - (iv), 2 - (iv), 3 - (v), 4 - (ii)

B. 1 - (v), 2 - (iv), 3 - (ii), 4 - (i)

C. 1 - (vi), 2 - (v), 3 - (i), 4 - (ii)

D. 1 - (v), 2 - (i), 3 - (ii), 4 - (iii)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mFNLFOBhbVus


60. Select the odd man out from the following

parameters.

A. Velocity gradient

B. Wave number

C. Decay constant

D. Linear frequency

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mFNLFOBhbVus
https://dl.doubtnut.com/l/_a2evIB1kdIa0


61. Dimensions of impulse are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[ML− 2T − 1]

[MLT − 1]

[ML− 1T − 3]

[ML− 1T − 2]

62. Of the following …………….. Has dimensions.

A. strain

https://dl.doubtnut.com/l/_vYiuXMVTUry9
https://dl.doubtnut.com/l/_vz5m1BWo1uFC


B. angle

C. gravitational constant

D. refractive index

Answer: C

Watch Video Solution

63. ………………….. Have the same dimensional formula.

A. Force and momentum

B. Density and linear density

C. Light year and wavelength

https://dl.doubtnut.com/l/_vz5m1BWo1uFC
https://dl.doubtnut.com/l/_W4wu2LzgZ4ig


D. Stress and strain

Answer: C

Watch Video Solution

64. Which of the following is dimensional constant?

A. Refractive index

B. Poisson's ratio

C. Strain

D. Gravitational constant

Answer: D

https://dl.doubtnut.com/l/_W4wu2LzgZ4ig
https://dl.doubtnut.com/l/_uvSZrlblA4k1


Watch Video Solution

65. A wire has a mass  radius 

 and length . The

maximum percentage error in the measurement of its

density is :

A. 3

B. 4

C. 5

D. 2

Answer: B

Watch Video Solution

0.3 ± 0.003g

0.5 ± 0.005mm 6 ± 0.06cm

https://dl.doubtnut.com/l/_uvSZrlblA4k1
https://dl.doubtnut.com/l/_9kjR2zmuj3fD


Watch Video Solution

66. The dimension of a quantity  where h is the

planck's constants,  is the frequency and c is the

velocity of light are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

hγ

c

γ

MT − 1

MLT − 1

MLT − 2

ML2T 2

https://dl.doubtnut.com/l/_9kjR2zmuj3fD
https://dl.doubtnut.com/l/_9s6cWxgOb75G


67. In a particular system, the unit of length, mass
and

time are chosen to be ,  and
  respectively.

The unit of force in this
system will be equivalent to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10cm 10g 0.1s

0.1N

1N

10N

100N

https://dl.doubtnut.com/l/_QsbpbkslZtYG


68. The dimensional formula of the constant ''a'' in

Vanderwaals gas eqaution is

:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(P + )(V − b) = RT
a

V 2

ML− 5T 2

ML3T − 2

ML2T − 1

ML5T − 3

https://dl.doubtnut.com/l/_AgES8nWHJHaR


69. Force F is given by . Where ''t'' is time.

What are the dimensions of ''a'' and ''cb''?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F = at + bt2

MLT − 1 and MLT 0

MLT − 3 and MLT − 4

MLT − 3 and MLT 4

MLT 3 and MLT − 4

https://dl.doubtnut.com/l/_BUHzaX1Gkyxk


70. The radius of a sphere is measured as

. Its surface area with error limits is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2.1 ± 0.5)cm

(55.4 ± 23.4)cm3

(55.4 ± 26.4)cm2

(55.4 ± 22.4)cm2

(55.5 ± 22.6)cm2

https://dl.doubtnut.com/l/_uPSJmBxKhiJm


71. In an experiment four quantities, a, b, c and d are

measured with  error 

respectively. If the quantity A is calculated as

 the  error in A is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

% 1 % , 2 % , 3 % and 4 %

A =
a3b2

cd
%

4 %

28 %

14 %

7 %

https://dl.doubtnut.com/l/_ENaSepnv2h0N
https://dl.doubtnut.com/l/_16ZFUTofAuNL


72. The frequency of vibration v of mass m suspended

from a spring of spring constant k is given by

 where c is a dimensional constant. The

volumes of x and y are :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f = cmxky

x = , y =
1

2

1

2

x = , y = −
1

2

1

2

x = − , y =
1

2

1

2

x = − , y = −
1

2

1

2

https://dl.doubtnut.com/l/_16ZFUTofAuNL


73. The dimensions of  are the same as those

of:

A. force

B. acceleration

C. velocity

D. energy

Answer: C

Watch Video Solution

1

√μ0ε0

https://dl.doubtnut.com/l/_dmY3Fcgb3Qv9


74. The dimensions of the quantities is one of the

following pairs are the same. Identify the correct pair:

A. Energy and Young's modulus

B. Angular momentum and work

C. Time period and frequency

D. Torque and work

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fOJV4Tfjxege


75. The voltage across a lamp is  volt and

current that passes through it is  ampere.

The power of the lamp in watt is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(6.0 ± 0.2)

(2.0 ± 0.1)

(6 ± 0.1)

(12 ± 0.1)

(24 ± 0.1)

(4 ± 0.1)

https://dl.doubtnut.com/l/_MnPzkZaSsmCm


76. Which of the following will be the same dimension

as that of time?

A. 

B. 

C. LC

D. 

Answer: A

Watch Video Solution

L

R

C

L

R

L

77. The dimensional formula for area is

https://dl.doubtnut.com/l/_eJqCwWWNGwaW
https://dl.doubtnut.com/l/_JkNTnoy4AxWl


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[M 2L2T 2]

[MLT 2]

[M 0L2T 2]

[M 0L2T 0]

78. The dimensional formula for energy density is

A. 

B. 

[MLT − 1]

[ML2T − 2]

https://dl.doubtnut.com/l/_JkNTnoy4AxWl
https://dl.doubtnut.com/l/_Eay8Eh8IZybs


C. 

D. 

Answer: C

Watch Video Solution

[ML− 1T − 2]

[ML2T − 1]

79. The dimensional formula for work is

A. 

B. 

C. 

D. 

[MLT − 2]

[ML− 1T − 2]

[MLT 2]

[ML2T − 2]

https://dl.doubtnut.com/l/_Eay8Eh8IZybs
https://dl.doubtnut.com/l/_85NxProiBCDw


Answer: D

Watch Video Solution

80. The dimensional formula for pressure is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[MLT − 2]

[ML− 1T − 2]

[MLT 2]

[ML2T − 2]

https://dl.doubtnut.com/l/_85NxProiBCDw
https://dl.doubtnut.com/l/_Z0LD2oeHFzbT


81. Special theory of relativity is a branch of Physics. It

does not deal with:

A. space

B. motion of plantes

C. mass

D. time

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_e4z5GogZVMHr


82. The fraction of  of temperature of the

triple point of water is expressed in ……….. Scale of

temperature.

A. celsius

B. fahrenheit

C. centigrade

D. kelvin

Answer: D

Watch Video Solution

1

273.16

https://dl.doubtnut.com/l/_VRKfpEWbgmi5


83. Which one of the following sets  enter into

the list of fundamental quantities?

A. Time and mass

B. Length and time

C. Area and volume

D. Mass and time

Answer: C

Watch Video Solution

cannot––––––––

84. The dimensional formula for linear momentum is

https://dl.doubtnut.com/l/_ocSvCPKI2xJ5
https://dl.doubtnut.com/l/_GraP4eRUvzWn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[MLT − 2]

[ML2T − 2]

[MLT − 1]

[ML− 2T − 3]

85. The dimensional formula for tension is

A. 

B. 

[MLT ]

[MLT − 1]

https://dl.doubtnut.com/l/_GraP4eRUvzWn
https://dl.doubtnut.com/l/_LhFLS9hANj7i


C. 

D. 

Answer: C

Watch Video Solution

[MLT − 2]

[MLT − 3]

86. The dimensional formula for surface tension is

A. 

B. 

C. 

D. 

[ML0T − 1]

[ML0T − 2]

[ML0T − 3]

[MLT − 2]

https://dl.doubtnut.com/l/_LhFLS9hANj7i
https://dl.doubtnut.com/l/_v9oQ8buSebTu


Answer: B

Watch Video Solution

87. When a current of 1 ampere flowing through two

parallel straight conductors : What amount of force

per unit length acts between the conductors?

A. 

B. 

C. 

D. 

Answer: B

1 × 10− 7N

2 × 10− 7N

3 × 107N

4 × 10− 7N

https://dl.doubtnut.com/l/_v9oQ8buSebTu
https://dl.doubtnut.com/l/_u3cbkMPjCYDz


Watch Video Solution

88. Match the following physical quantities with

respect to relative units: 

 


A. 1 - (iv), 2 - (v), 3 - (iv), 4 - (ii)

B. 1 - (ii), 2 - (v), 3 - (vi), 4 - (i)

C. 1 - (v), 2 - (i), 3 - (iv), 4 - (vi)

https://dl.doubtnut.com/l/_u3cbkMPjCYDz
https://dl.doubtnut.com/l/_bxA4QDTLWLtJ


D. 1 - (ii), 2 - (v), 3 - (iv), 4 - (i)

Answer: D

Watch Video Solution

89. The dimensional formula for stress is

A. 

B. 

C. 

D. 

Answer: C

[MLT − 2]

[ML− 1T − 1]

[ML− 1T − 2]

[ML− 2T − 3]

https://dl.doubtnut.com/l/_bxA4QDTLWLtJ
https://dl.doubtnut.com/l/_veQ3mwDx9nFG


Watch Video Solution

90. The dimensions of Pressure are same as

A. Force

B. Work

C. Surface tension

D. Stress

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_veQ3mwDx9nFG
https://dl.doubtnut.com/l/_bnLU3Ug752L3


91. The value of Planck's constant is .

A. jouble per second

B. joule second

C. metre per second

D. watt second

Answer: B

Watch Video Solution

___________

92. Light year is a unit of

A. Time

https://dl.doubtnut.com/l/_86yLPddcT0z1
https://dl.doubtnut.com/l/_BnL9KG4c4XVu


B. Mass

C. Distance

D. Energy

Answer: C

Watch Video Solution

93. 1 pascal is equal to :

A. 

B. 

C. 

1Nm− 2

1Jm− 2

1Nm− 1

https://dl.doubtnut.com/l/_BnL9KG4c4XVu
https://dl.doubtnut.com/l/_1afKLjph0tN0


D. 

Answer: A

Watch Video Solution

1Jm− 1

94. Choose the correct statement from the following

statements :

A. S.I. unit of gravitational potential is J sec

B. S.I. unit of gravitational potential is J kg

C. S.I. unit of gravitational potential is Watt metre

D. S.I. unit of gravitation potential is J kg− 1

https://dl.doubtnut.com/l/_1afKLjph0tN0
https://dl.doubtnut.com/l/_i40YEsTORG75


Answer: D

Watch Video Solution

95. Newton-second is the unit of

A. Velocity

B. Angular momentum

C. Momentum

D. Energy

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_i40YEsTORG75
https://dl.doubtnut.com/l/_ipx7vLNQDkDI


96. Which of the following statements are correct? 

(i) A physical quantity cannot be measured 

(ii) A physical quantity can be measured 

(iii) The units of physical quantity can be derived 

(iv) A physical quantity can neither be a scalar nor a

vector

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iv)

D. (ii) and (iv)

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_xLZmEeFNVGdD


Watch Video Solution

97. One nanometre is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

109mm

10− 6cm

10− 7cm

10− 9cm

98. A micron is related to centimetre as

https://dl.doubtnut.com/l/_xLZmEeFNVGdD
https://dl.doubtnut.com/l/_JZH6ElfTwHL7
https://dl.doubtnut.com/l/_moncW0NIYaaU


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1micron = 10− 8cm

1micron = 10− 6cm

1micron = 10− 5cm

1micron = 10− 4cm

99. Choose the odd man out from the following

physical quantities:

A. Mass

https://dl.doubtnut.com/l/_moncW0NIYaaU
https://dl.doubtnut.com/l/_Q5IRKreZ23iK


B. Length

C. Velocity

D. Time

Answer: C

Watch Video Solution

100. Which one of the following relations is wrong?

A. 1 fermi 

B. 1 nanometer 

C. 1 AU 

= 10− 14m

= 10− 9m

= 1.496 × 1011m

https://dl.doubtnut.com/l/_Q5IRKreZ23iK
https://dl.doubtnut.com/l/_dr1djdMP1yKc


D. 1 parsec = 3.26 light year

Answer: A

View Text Solution

101. 1 CSL is the largest practical unit of :

A. time and length

B. mass only

C. temperature and mass

D. intensity of radiation and length

Answer: B

https://dl.doubtnut.com/l/_dr1djdMP1yKc
https://dl.doubtnut.com/l/_ygLzUFaLJpOc


View Text Solution

102. One exametre is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1018m

1019m

1021m

1023m

https://dl.doubtnut.com/l/_ygLzUFaLJpOc
https://dl.doubtnut.com/l/_SwvMWWPUXbjW


103. One petametre is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1015m

1018m

1021m

1024m

104. One petametre related to centimetre as

A. 1015cm

https://dl.doubtnut.com/l/_EC1ukSTOOR59
https://dl.doubtnut.com/l/_OvXQNoRt5epz


B. 

C. 

D. 

Answer: B

Watch Video Solution

1017cm

1019cm

1021cm

105. 10 petametre is equal to

A. 

B. 

C. 

1015m

1016m

1017m

https://dl.doubtnut.com/l/_OvXQNoRt5epz
https://dl.doubtnut.com/l/_SbExAonZ9V4Q


D. 

Answer: B

Watch Video Solution

1018m

106. Least cound of metre scale is :

A. 1 cm

B. 0.1 cm

C. 1 mm

D. 0.1 mm

Answer: C

https://dl.doubtnut.com/l/_SbExAonZ9V4Q
https://dl.doubtnut.com/l/_qRjtgtigMIa0


View Text Solution

107. The ratio of the dimension of planck constant and

that of moment of inertia is the dimension of ……….

A. time

B. frequency

C. velocity

D. angular momentum

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_qRjtgtigMIa0
https://dl.doubtnut.com/l/_UeQvl5DSjVGY
https://dl.doubtnut.com/l/_oK3HXMrqMQNc


108. Select the incorrect statement from the following

statements : 

(i) The radius of a rain drop is  


(ii) The mass of a neutron is  


(iii) The average distance of Pluto's orbit is  


(iv) The diameter of the hydrogen atom is 

A. Statements (i) and (ii) are incorrect

B. Statements (ii) and (iii) are incorrect

C. Statement (ii) only incorrect

D. Statements (ii) and (iv) are incorrect

Answer: C

View Text Solution

10− 6m

1027kg

1012m

10− 10m

https://dl.doubtnut.com/l/_oK3HXMrqMQNc


109. The angle subtended by a coin of radius 1 cm held

at a distance of 80 cm from your eyes is :

A. 1.25 rad

B. 0.125 rad

C. 

D. 

Answer: B

View Text Solution

0.0125∘

0.025∘

https://dl.doubtnut.com/l/_oK3HXMrqMQNc
https://dl.doubtnut.com/l/_95gPGfsYA0iv


110. The density of a liquid in CGS system is

. What is its magnitude in SI system?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.625g/cm3

625kg/m3

0.0625kg/m3

0.0625kg/m3

0.00625kg/m3

111. From the following units, select the odd man out.

https://dl.doubtnut.com/l/_I3hy0Xh30fR5
https://dl.doubtnut.com/l/_OVhS2Fmlp6bI


A. Light year

B. Astronomical unit

C. Parsec

D. CSI (Chandrasekar's limit)

Answer: D

Watch Video Solution

112. If  newton- second, then the

number x is equal to:

A. 

1 g cm s − 1 = x

105

https://dl.doubtnut.com/l/_OVhS2Fmlp6bI
https://dl.doubtnut.com/l/_qQyFTSs6EREr


B. 

C. 

D. 

Answer: D

Watch Video Solution

1010

1015

10− 5

113. Which of the following is not the unit of time? 

a) Light year
 b) Astronomical unit
 c) Parsec
 d) all of

the above

A. Light year

B. Astronomical unit

https://dl.doubtnut.com/l/_qQyFTSs6EREr
https://dl.doubtnut.com/l/_Rs6CcKjUBbDd


C. Parsec

D. all of the above

Answer: D

Watch Video Solution

114. The respective number of significant figures for

the number 13.013, 0.0003 and  are

respectively:

A. 5, 1, 2

B. 5, 4, 5

C. 5, 5, 2

9.1 × 10− 3

https://dl.doubtnut.com/l/_Rs6CcKjUBbDd
https://dl.doubtnut.com/l/_Rj2Z6ZwFu8x6


D. 5, 1, 3

Answer: A

Watch Video Solution

115. A student measured the length of a wire and

wrote it as 2.50 can which instrument did he/she use

to measure it?

A. a screw gauge having 50 division in the circular

scale and pitch as 1 mm.

B. a meter scale

https://dl.doubtnut.com/l/_Rj2Z6ZwFu8x6
https://dl.doubtnut.com/l/_Euxge1XpWObS


C. a vernier caliper where the 10 division in vernier

matches with a division in main scale.

D. a screw gauge having 100 division in the circular

scale and pitch as 1 mm.

Answer: B

Watch Video Solution

116. If the error in the measurement of radius of a

sphere is  then the error in the measurement of

volume of the sphere will be :

A. 

3 %

4 %

https://dl.doubtnut.com/l/_Euxge1XpWObS
https://dl.doubtnut.com/l/_WsxEpT0frSQy


B. 

C. 

D. 

Answer: D

View Text Solution

6 %

2 %

9 %

117. The diameter of the steel ball is measured using a

vernier caliper which has divisions of 0.1 cm on its

main scale nad 10 division of its vernier scale match 9

division on the main scale. Three such measurements

for a ball are as follows. 

https://dl.doubtnut.com/l/_WsxEpT0frSQy
https://dl.doubtnut.com/l/_nIxaoNmWD5m5


 


If the zero error is , then mean corrected

diameter is ............. cm.

A. 0.56

B. 0.53

C. 0.59

D. 0.52

Answer: C

Watch Video Solution

0.03cm

https://dl.doubtnut.com/l/_nIxaoNmWD5m5
https://dl.doubtnut.com/l/_drSuwIAf7pMQ


118. If  and , then 

.

A. 4.4

B. 4

C. 4.43

D. 4.431

Answer: A

Watch Video Solution

A = 2.331cm C = 2.1cm

A + C = ……. . cm

119. Match the following units given in the column I

with dimesnions in the column II. 

https://dl.doubtnut.com/l/_drSuwIAf7pMQ
https://dl.doubtnut.com/l/_BfExVk4YWu1s


A. I - (vi), 2 - (iv), 3 - (i), 4 - (ii)

B. 1 - (v), 2 - (iv), 3 - (ii), 4 - (vi)

C. 1 - (vi), 2 - (i), 3 - (v), 4 - (ii)

D. 1 - (iv), 2 - (iii), 3 - (vi), 4 - (i)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BfExVk4YWu1s


120. The least count of stop watch is 0.5s. The time of

40 oscillation of the pendulum is found to be 40s. The

percentage error in the measurement of time period

is ……………… 

A. 0.75

B. 0.5

C. 1.25

D. 0.25

Answer: C

Watch Video Solution

%

https://dl.doubtnut.com/l/_zScckRE61vWd
https://dl.doubtnut.com/l/_f20Zyab7BG3b


121. Assertion : SI system of units is a coherent system

of units. 

Reason : In this system, all the derived units can be

easily obtained from basic and supplementary units.

A. Assertion is true and reason is false

B. Assertion is false and reason is true.

C. Assertion is true and reason is the correct

explanation of assertion

D. Assertion is true and reason is true but not the

correct explanation of assertion.

Answer: C

W t h Vid S l ti

https://dl.doubtnut.com/l/_f20Zyab7BG3b


Watch Video Solution

122. The sum of the numbers 436.32, 227.2 and 0.301 in

appropriate significant figure is :

A. 663.82

B. 663.8

C. 664

D. 6663.82

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_f20Zyab7BG3b
https://dl.doubtnut.com/l/_6B7EEnRKST1i


123. Gross error can be eliminated by :

A. careful observation and mental alert

B. eliminating the cause

C. taking mean

D. measuring with more than one instrument

Answer: A

Watch Video Solution

124. A box is pulled with a force of 25 N to produce a

displacement of 15 m. If the angle between the force

https://dl.doubtnut.com/l/_SG8nOLBDzTEh
https://dl.doubtnut.com/l/_kKx3Eukia6PA


and displacement is . Find the work done by the

force ?

A. Assertion is true, reason is true but it is not the

correct explanation.

B. Assertion is true, reason is true and it is the

correct explanation for assertion.

C. Assertion is true and reason is false.

D. Assertion is false and reason is true.

Answer: B

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_kKx3Eukia6PA
https://dl.doubtnut.com/l/_Cg6vTrWUlhcs


125. High precision instruments are used to eliminate

…………….. Error.

A. personal

B. random

C. chance

D. least count

Answer: D

Watch Video Solution

126. Assertion : The length of a cylinder is 23.8 cm. In

this measurement there are three significant figures. 

https://dl.doubtnut.com/l/_Cg6vTrWUlhcs
https://dl.doubtnut.com/l/_enM9OOQifvoF


Reason : The same length when expressed in

millimeter as 23800 mm has four significant figures. 

Which of the following is correct?

A. Assertion is true and reason is true.

B. Assertion is true and reason is false

C. Assertion is true and reason is correct

explanation for assertion.

D. Assertion is true and reason is true but it is not

correct explanation for assertion.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_enM9OOQifvoF


127. Round off to the number 12.653 upto 3 digits:

A. 12.5

B. 

C. 12.7

D. 12.6

Answer: C

Watch Video Solution

12.0

128. If , then the relative error in f is :

A. 

f = x2

2Δx

x

https://dl.doubtnut.com/l/_uURXk8QCII0p
https://dl.doubtnut.com/l/_48dXzmGHsjRW


B. 

C. 

D. 

Answer: A

Watch Video Solution

(Δx)
2

x

Δx

x

(Δx)
2

129. The length and breadth of a rectangle are 6.01 m

and 12 m. Taking the significant figure into account

the area of the rectangle is :

A. 

B. 

72.00m2

72.1m2

https://dl.doubtnut.com/l/_48dXzmGHsjRW
https://dl.doubtnut.com/l/_I38bpen3M8JE


C. 

D. 

Answer: B

Watch Video Solution

72m2

72.12m2

130. Which of the following digits are significant?

A. zero digits

B. zeros at the end without a decimal point

C. all zeros between two non - zeros digits,

irrespective of the decimal point

https://dl.doubtnut.com/l/_I38bpen3M8JE
https://dl.doubtnut.com/l/_AkrEMRPUorDP


D. all the above

Answer: C

Watch Video Solution

131. Column I gives three physical quantities. Select

the appropriate units for the choices given in column

II. 

Some of the physical quantities may have more than

https://dl.doubtnut.com/l/_AkrEMRPUorDP
https://dl.doubtnut.com/l/_BYldwZm0ax42


one choice correct. 

A. 1 - (iv), 2 - (iii), 3 - (ii) and (i)

B. 1 - (i) and (v), 2 - (iv), 3 - (ii) and (iii)

C. 1 - (ii) and (v), 2 - (i) and (ii), 3 - (i) and (v)

D. 1 - (iv) and (v), 2 - (ii), 3 - (iii) and (iv)

Answer: B

Watch Video Solution

Column I Column II

1. Inductance (i) Ohm (second)

2. Magnetic induction (ii) Coulomb
2
(joule)

− 1

3. Capacitance (iii) Coulomb (volt)
− 1

(iv) Newton (ampere metre)
− 1

(v) Volt second (ampere)
− 1

https://dl.doubtnut.com/l/_BYldwZm0ax42
https://dl.doubtnut.com/l/_7K2eLNfAAO1q


132. The dimensional formula for relative density is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ML− 3

M 0L− 3

M 0L0T 0

M 0L0T − 1

133. The dimensions of Hubble's constant are :

A. [M 0L0T ]

https://dl.doubtnut.com/l/_7K2eLNfAAO1q
https://dl.doubtnut.com/l/_RPlTYpkff2xR


B. 

C. 

D. 

Answer: B

Watch Video Solution

[M 0L0T − 1]

[MLT 2]

[MLT − 1]

134. The dimensional formula of Planck's constand h is

A. energy

B. power

C. angular momentum

https://dl.doubtnut.com/l/_RPlTYpkff2xR
https://dl.doubtnut.com/l/_dtx1iDWzJgkY


D. momentum

Answer: C

Watch Video Solution

135. Match the physical quantities given in column I

with dimensions given in column II. (Dimension of

charge is Q) 

https://dl.doubtnut.com/l/_dtx1iDWzJgkY
https://dl.doubtnut.com/l/_YGOM1Fyt6iRR


A. 1 - (iv), 2 - (iv), 3 - (v), 4 - (ii)

B. 1 - (v), 2 - (iv), 3 - (ii), 4 - (i)

C. 1 - (vi), 2 - (v), 3 - (i), 4 - (ii)

D. 1 - (v), 2 - (i), 3 - (ii), 4 - (iii)

Answer: C

Watch Video Solution

136. Select the odd man out from the following

parameters.

A. Velocity gradient

https://dl.doubtnut.com/l/_YGOM1Fyt6iRR
https://dl.doubtnut.com/l/_CwMXo2gq7ZVA


B. Wave number

C. Decay constant

D. Linear frequency

Answer: B

Watch Video Solution

137. Dimensions of impulse are :

A. 

B. 

C. 

[ML− 2T − 1]

[MLT − 1]

[ML− 1T − 3]

https://dl.doubtnut.com/l/_CwMXo2gq7ZVA
https://dl.doubtnut.com/l/_eBuiHU1P802u


D. 

Answer: B

Watch Video Solution

[ML− 1T − 2]

138. Of the following …………….. Has dimensions.

A. strain

B. angle

C. gravitational constant

D. refractive index

Answer: C

https://dl.doubtnut.com/l/_eBuiHU1P802u
https://dl.doubtnut.com/l/_xn3CiIX6qTe0


Watch Video Solution

139. ………………….. Have the same dimensional formula.

A. Force and momentum

B. Density and linear density

C. Light year and wavelength

D. Stress and strain

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xn3CiIX6qTe0
https://dl.doubtnut.com/l/_cqadkzmgrGsD


140. Which of the following is dimensional constant?

A. Refractive index

B. Poisson's ratio

C. Strain

D. Gravitational constant

Answer: D

Watch Video Solution

141. A wire has a mass  radius 

 and length . The

0.3 ± 0.003g

0.5 ± 0.005mm 6 ± 0.06cm

https://dl.doubtnut.com/l/_GRLmmODGMDql
https://dl.doubtnut.com/l/_NVDLii8ifRoR


maximum percentage error in the measurement of its

density is :

A. 3

B. 4

C. 5

D. 2

Answer: B

Watch Video Solution

142. The dimension of a quantity  where h is the

planck's constants,  is the frequency and c is the

hγ

c

γ

https://dl.doubtnut.com/l/_NVDLii8ifRoR
https://dl.doubtnut.com/l/_MdpLDlr9Fgqp


velocity of light are :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MT − 1

MLT − 1

MLT − 1

ML2T 2

143. If the energy  where G is the universal

gravitational constant, h is the planck's constant and

c is the velocity of light, then the values of p, q and r

E = Gphqcr

https://dl.doubtnut.com/l/_MdpLDlr9Fgqp
https://dl.doubtnut.com/l/_U5tpTxI4qWJi


are respectively:

a) -1/2,1/2 and 5/2 

b) 1/2, -1/2 and -5/2 

c) -1/2,1/2 and 3/2 

d) 1/2, -1/2 and -3/2

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

− , and
1

2

1

2

5

2

, − and −
1

2

1

2

5

2

− , and
1

2

1

2

3

2

, − and −
1

2

1

2

3

2

https://dl.doubtnut.com/l/_U5tpTxI4qWJi
https://dl.doubtnut.com/l/_v69tAPmoRYiS


144. The dimensional formula of the constant ''a'' in

Vanderwaals gas eqaution is

:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(P + )(V − b) = RT
a

V 2

ML− 5T 2

ML3T − 2

ML2T − 1

ML5T − 3

https://dl.doubtnut.com/l/_v69tAPmoRYiS


145. Force F is given by . Where ''t'' is

time. What are the dimensions of ''a'' and ''cb''?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F = at + bt2

MLT − 1 and MLT 0

MLT − 3 and MLT − 4

MLT − 3 and MLT 4

MLT 3 and MLT − 4

https://dl.doubtnut.com/l/_B0wVAXTxq2pp


146. The radius of a sphere is measured as

. Its surface area with error limits is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2.1 ± 0.5)cm

(55.4 ± 23.4)cm3

(55.4 ± 26.4)cm2

(55.4 ± 22.4)cm2

(55.5 ± 22.6)cm2

https://dl.doubtnut.com/l/_bvG4d4C2CzTo


147. In an experiment four quantities, a, b, c and d are

measured with  error 

respectively. If the quantity A is calculated as

 the  error in A is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

% 1 % , 2 % , 3 % and 4 %

A =
a3b2

cd
%

4 %

28 %

14 %

7 %

https://dl.doubtnut.com/l/_6xQ4Z1phiEVv
https://dl.doubtnut.com/l/_H8XJ5IYIIqPM


148. The frequency of vibration v of mass m

suspended from a spring of spring constant k is given

by  where c is a dimensional constant. The

volumes of x and y are :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f = cmxky

x = , y =
1

2

1

2

x = , y = −
1

2

1

2

x = − , y =
1

2

1

2

x = − , y = −
1

2

1

2

https://dl.doubtnut.com/l/_H8XJ5IYIIqPM


149. The dimensions of  are the same as those

of:

A. force

B. acceleration

C. velocity

D. energy

Answer: C

Watch Video Solution

1

√μ0ε0

https://dl.doubtnut.com/l/_jQZeUgVmyAEo


150. The dimensions of the quantities is one of the

following pairs are the same. Identify the correct pair:

A. Energy and Young's modulus

B. Angular momentum and work

C. Time period and frequency

D. Torque and work

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_e2W17nszTNed


151. The voltage across a lamp is  volt and

current that passes through it is  ampere.

The power of the lamp in watt is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(6.0 ± 0.2)

(2.0 ± 0.1)

(6 ± 0.1)

(12 ± 0.1)

(24 ± 0.1)

(4 ± 0.1)

https://dl.doubtnut.com/l/_b62aVK56cQfR


Other Important Questions Answers Ii Very Short Answer

Questions

152. Which of the following will be the same

dimension as that of time?

A. 

B. 

C. LC

D. 

Answer: A

Watch Video Solution

L

R

C

L

R

L

https://dl.doubtnut.com/l/_l4HoVuobNoxH


1. What is science?

Watch Video Solution

2. What are physical and biological sciences ?

Watch Video Solution

3. What is the origin of the word physics ?

Watch Video Solution

4. What is the Physics?

https://dl.doubtnut.com/l/_pZsqrsS3MZbc
https://dl.doubtnut.com/l/_ze0QohOI6U0z
https://dl.doubtnut.com/l/_waa2daNUPSm0
https://dl.doubtnut.com/l/_e7DevBgetYsp


Watch Video Solution

5. Name the main branches of physics.

Watch Video Solution

6. What are the branches of classical physics?

Watch Video Solution

7. What are the braches of modern physics?

Watch Video Solution

https://dl.doubtnut.com/l/_e7DevBgetYsp
https://dl.doubtnut.com/l/_sNNxOYls9xHF
https://dl.doubtnut.com/l/_2zRdeoBHYN2g
https://dl.doubtnut.com/l/_IkOeltbC88Ds


8. Distinguish between classical mechanics and

quantum mechanics.

Watch Video Solution

9. What is Thermodynamics?

Watch Video Solution

10. What is optics?

Watch Video Solution

https://dl.doubtnut.com/l/_B2zWN10jkIzx
https://dl.doubtnut.com/l/_ZePaGzumMOE4
https://dl.doubtnut.com/l/_WyzWR9Hw4xTM
https://dl.doubtnut.com/l/_5n5EOZn3jsKF


11. What are electricity and magnetism?

Watch Video Solution

12. What si the meaning of Acoustics?

Watch Video Solution

13. What is Astrophysics?

Watch Video Solution

14. What is relativity ?

https://dl.doubtnut.com/l/_5n5EOZn3jsKF
https://dl.doubtnut.com/l/_WlvzW5aZ8Ynt
https://dl.doubtnut.com/l/_Op4utXfFDwfG
https://dl.doubtnut.com/l/_PvcsWThuDalc


Watch Video Solution

15. What are atomic and nuclear physics ?

Watch Video Solution

16. What is condensed matter physics ?

Watch Video Solution

17. What is high energy physics ?

Watch Video Solution

https://dl.doubtnut.com/l/_PvcsWThuDalc
https://dl.doubtnut.com/l/_BBfoxDsxxRhw
https://dl.doubtnut.com/l/_RAd57zRxvavr
https://dl.doubtnut.com/l/_kfpULyuju0ne
https://dl.doubtnut.com/l/_uFJQ5Puzv0nN


18. In what way Physics is in relation to Chemistry.

Watch Video Solution

19. What is the relation of Physics to Biology?

Watch Video Solution

20. Describe the relation of Physics with mathematics

Watch Video Solution

21. In what ways physics is in relation to astronomy?

https://dl.doubtnut.com/l/_uFJQ5Puzv0nN
https://dl.doubtnut.com/l/_0PuhbTsnW4SU
https://dl.doubtnut.com/l/_kl9upCIttRce
https://dl.doubtnut.com/l/_ZtZfbnIgcB97


Watch Video Solution

22. How is physics useful in geology and

oceanogrpahy? (or) Describe the relation of Physics

with geology.

Watch Video Solution

23. How is physics useful in geology and

oceanogrpahy? (or) Describe the relation of Physics

with geology.

Watch Video Solution

https://dl.doubtnut.com/l/_ZtZfbnIgcB97
https://dl.doubtnut.com/l/_Wr1afQcAMAeU
https://dl.doubtnut.com/l/_txrKNKHUabZ0
https://dl.doubtnut.com/l/_KMbjLOZ3HXhk


24. Describe the relation of Physics with Psychology.

Watch Video Solution

25. Define physical quantity.

Watch Video Solution

26. What are fundamental units and derived units?

Watch Video Solution

27. What are fundamental units and derived units?

https://dl.doubtnut.com/l/_KMbjLOZ3HXhk
https://dl.doubtnut.com/l/_wo44sZASOJ1Y
https://dl.doubtnut.com/l/_HBYA14ePxDJz
https://dl.doubtnut.com/l/_i8ksNDt092LZ


Watch Video Solution

28. Define FPS system of units.

Watch Video Solution

29. What is meant by C.G.S. system of units ?

Watch Video Solution

30. Define MKS system of units.

Watch Video Solution

https://dl.doubtnut.com/l/_i8ksNDt092LZ
https://dl.doubtnut.com/l/_NObCVi36RnOB
https://dl.doubtnut.com/l/_TptO4gwQsD3R
https://dl.doubtnut.com/l/_jtOt6kSrB32m


31. Dimensions of stress are :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ML2T − 2]

[ML0T − 2]

[ML− 1T − 2]

[MLT − 2]

32. Define one metre.

Watch Video Solution

https://dl.doubtnut.com/l/_1iSFun66Zz6F
https://dl.doubtnut.com/l/_Im17i6a4Ll8y


33. Define the SI unit of mass (or) What is one

kilogram in SI system of units?

Watch Video Solution

34. Define the SI unit of time. (or) What is one second

in SI system of units?

Watch Video Solution

35. Define th SI unit of electric current. (or) What is

one second in SI system of units? (or) Define one

https://dl.doubtnut.com/l/_Im17i6a4Ll8y
https://dl.doubtnut.com/l/_epnRzQJdN0wd
https://dl.doubtnut.com/l/_lWgFUIShQPPS
https://dl.doubtnut.com/l/_cW5nMZBnVVXo


ampere (S.I standard for current)

Watch Video Solution

36. Define one kelvin.

Watch Video Solution

37. Define one mole.

Watch Video Solution

https://dl.doubtnut.com/l/_cW5nMZBnVVXo
https://dl.doubtnut.com/l/_vAZnG2n5ImbZ
https://dl.doubtnut.com/l/_uxm2kD3mz9eW


38. What meant by one candela? And Which base

quantity is measured by this unit? (or) Define one

candela (S.I standard for Luminous intensity)

Watch Video Solution

39. What is meant by the triple point of water?

Watch Video Solution

40. Define the SI unit of length.

Watch Video Solution

https://dl.doubtnut.com/l/_rGlk8f33qXjf
https://dl.doubtnut.com/l/_FqnCkFYDF5ZQ
https://dl.doubtnut.com/l/_gkVUwm2SCaRs


41. Define one radian (S.I standard for plane angle)

Watch Video Solution

42. Define one steraedian(S.I standard for solid angle)

Watch Video Solution

43. Define a radian.

Watch Video Solution

https://dl.doubtnut.com/l/_gWBy1jyQgVGQ
https://dl.doubtnut.com/l/_sdkAegU28yAe
https://dl.doubtnut.com/l/_ZS3nn3DqNmy4


44. Name the supplementary units converted into

derived units.

Watch Video Solution

45. Where do we use indirect methods to measure

distance ?

Watch Video Solution

46. Name the method used in the determination of

very large distances.

Watch Video Solution

https://dl.doubtnut.com/l/_LXfO6U5SN535
https://dl.doubtnut.com/l/_VYrqtWckHzV4
https://dl.doubtnut.com/l/_20M3nrIwo0t0


47. What do you understand by the term parallax

angle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_20M3nrIwo0t0
https://dl.doubtnut.com/l/_vZWYqlqIdIvZ


48. How many Astronomical units are there in one

light year? 

Given Data: 

1 Astronomical unit  


1 light year 

Watch Video Solution

= 1.496 × 1011m

= 9.46 × 1015m

49. Define a Astronomical Unit.

Watch Video Solution

https://dl.doubtnut.com/l/_SiShU02EJe9O
https://dl.doubtnut.com/l/_FwwMZW0hCRqV


50. What is parsec? (or) Define one parsec (parallactic

second)

Watch Video Solution

51. Define mass

Watch Video Solution

52. Name the instrument to measure sub- atomic

particles.

Watch Video Solution

https://dl.doubtnut.com/l/_w7AuHSpFGMmg
https://dl.doubtnut.com/l/_UBAX3OjgpDxd
https://dl.doubtnut.com/l/_ZJVfR1CSEpgo


53. Define the term time. Give its S.I. unit.

Watch Video Solution

54. List few instruments to measure time.

Watch Video Solution

55. What is an error? Name the three Errors in

Measurement.

Watch Video Solution

https://dl.doubtnut.com/l/_E6mJTU6hAJwA
https://dl.doubtnut.com/l/_enXX9X83r6PR
https://dl.doubtnut.com/l/_WtNRUcHBV2UK
https://dl.doubtnut.com/l/_XoTICejT3KBe


56. What do you understand by term error in

measurements ?

Watch Video Solution

57. What is Absolute Error.

Watch Video Solution

58. What is Mean Absolute error?

Watch Video Solution

https://dl.doubtnut.com/l/_XoTICejT3KBe
https://dl.doubtnut.com/l/_lcV8xrLR2Fw1
https://dl.doubtnut.com/l/_mdbvZhgYZ1oV


59. What do you mean by Relative error ?

Watch Video Solution

60. What do you mean by percentage error ?

Watch Video Solution

61. What is significant figures?

Watch Video Solution

https://dl.doubtnut.com/l/_CjGjtAdoiki7
https://dl.doubtnut.com/l/_gjV5S6NPQlFi
https://dl.doubtnut.com/l/_WQjbf1iEbgzM


62. What is menat by the dimensions of a physical

quantity?

Watch Video Solution

63. What is meant by dimensional formula ?

Watch Video Solution

64. What is dimensiional equation? Given an example.

Watch Video Solution

https://dl.doubtnut.com/l/_PqYMddvDGj4P
https://dl.doubtnut.com/l/_jBG4YAFZm8Uw
https://dl.doubtnut.com/l/_NvlwZmanJ1Mh
https://dl.doubtnut.com/l/_BvfloTQdZwav


65. What is science?

Watch Video Solution

66. What are physical and biological sciences ?

Watch Video Solution

67. What is the Physics?

Watch Video Solution

68. What is the Physics?

https://dl.doubtnut.com/l/_BvfloTQdZwav
https://dl.doubtnut.com/l/_CFMvB1t5FdTw
https://dl.doubtnut.com/l/_PLdEulFnQDUW
https://dl.doubtnut.com/l/_BXXJ0V9MMCUz


Watch Video Solution

69. Name the main branches of physics.

Watch Video Solution

70. What are the branches of classical physics?

Watch Video Solution

71. What are the braches of modern physics?

Watch Video Solution

https://dl.doubtnut.com/l/_BXXJ0V9MMCUz
https://dl.doubtnut.com/l/_V214fuTeahWQ
https://dl.doubtnut.com/l/_AYpQgsgM04MK
https://dl.doubtnut.com/l/_d03YyOcLsDeY
https://dl.doubtnut.com/l/_KP5NXeTyKSXS


72. What is Classical mechanics?

Watch Video Solution

73. What is Thermodynamics?

Watch Video Solution

74. What is optics?

Watch Video Solution

75. What are electricity and magnetism?

https://dl.doubtnut.com/l/_KP5NXeTyKSXS
https://dl.doubtnut.com/l/_1dhTI2EliIK2
https://dl.doubtnut.com/l/_6puaWOSkT8Xo
https://dl.doubtnut.com/l/_zYEJkwnq8OIC


Watch Video Solution

76. What is acoustics ?

View Text Solution

77. What is Astrophysics?

Watch Video Solution

78. What is relativity ?

Watch Video Solution

https://dl.doubtnut.com/l/_zYEJkwnq8OIC
https://dl.doubtnut.com/l/_kellSWfuAqC1
https://dl.doubtnut.com/l/_7pPwJ8bX7d6N
https://dl.doubtnut.com/l/_CrKiYcccmdce


79. What are atomic and nuclear physics ?

Watch Video Solution

80. What is condensed matter physics ?

Watch Video Solution

81. What is high energy physics ?

Watch Video Solution

82. In what way Physics is in relation to Chemistry.

https://dl.doubtnut.com/l/_X2LtP9q9iM0v
https://dl.doubtnut.com/l/_Ym0ANhxPznHI
https://dl.doubtnut.com/l/_8W6jAgnlYbsc
https://dl.doubtnut.com/l/_xHCGOzKPb1HX


Watch Video Solution

83. What is the relation of Physics to Biology?

Watch Video Solution

84. Describe the relation of Physics with mathematics

Watch Video Solution

85. In what ways physics is in relation to astronomy?

Watch Video Solution

https://dl.doubtnut.com/l/_xHCGOzKPb1HX
https://dl.doubtnut.com/l/_mRVF7aQMpCiP
https://dl.doubtnut.com/l/_x6W1q5umSDn6
https://dl.doubtnut.com/l/_E0H5q5jqm30h


86. How is physics useful in geology and

oceanogrpahy? (or) Describe the relation of Physics

with geology.

Watch Video Solution

87. Discuss the relation of physics with oceanography.

Watch Video Solution

88. Describe the relation of Physics with Psychology.

Watch Video Solution

https://dl.doubtnut.com/l/_FMWwY5bl2nM8
https://dl.doubtnut.com/l/_WTBHEO3AFLFc
https://dl.doubtnut.com/l/_yp0MAYlnCiYR


89. Assertion: Quantities that can be expressed in

terms of fundamental quantities are derived

quantities. 

Reason: Examples are Mass, Length, Time etc.

Watch Video Solution

90. What are fundamental units and derived units?

Watch Video Solution

91. What are fundamental units and derived units?

Watch Video Solution

https://dl.doubtnut.com/l/_yKFNytaPCO2H
https://dl.doubtnut.com/l/_ABTP0ylWwURr
https://dl.doubtnut.com/l/_xhppgHTLhn9k


92. Define FPS system of units.

Watch Video Solution

93. What is meant by C.G.S. system of units ?

Watch Video Solution

94. Define MKS system of units.

Watch Video Solution

https://dl.doubtnut.com/l/_xhppgHTLhn9k
https://dl.doubtnut.com/l/_ztgK3sd5MtfS
https://dl.doubtnut.com/l/_uGXQHhENkZmf
https://dl.doubtnut.com/l/_fWUD8NigQj4G
https://dl.doubtnut.com/l/_sHv6YgTmXMJt


95. What is meant by S.I. unit ?

Watch Video Solution

96. Define one metre.

Watch Video Solution

97. Define one kilogram.

Watch Video Solution

98. Define one second.

https://dl.doubtnut.com/l/_sHv6YgTmXMJt
https://dl.doubtnut.com/l/_7TZxb83aNKaQ
https://dl.doubtnut.com/l/_SOz4FFPPg6zv
https://dl.doubtnut.com/l/_kwMcSDF3L2iJ


Watch Video Solution

99. Define Ampere :

Watch Video Solution

100. What is the SI unit of temperature and define it?

What is one kelvin in SI system of units?

Watch Video Solution

101. Define one mole.

Watch Video Solution

https://dl.doubtnut.com/l/_kwMcSDF3L2iJ
https://dl.doubtnut.com/l/_qhxAsy1zF2fr
https://dl.doubtnut.com/l/_V8ZeTsAdqpI7
https://dl.doubtnut.com/l/_hNXKhcJ6bLxW


102. What meant by one candela? And Which base

quantity is measured by this unit? (or) Define one

candela (S.I standard for Luminous intensity)

Watch Video Solution

103. What is meant by the triple point of water?

Watch Video Solution

104. Define the SI unit of length.

Watch Video Solution

https://dl.doubtnut.com/l/_hNXKhcJ6bLxW
https://dl.doubtnut.com/l/_GHMMPoxUEjYp
https://dl.doubtnut.com/l/_ONprWAdAVpBn
https://dl.doubtnut.com/l/_kHSFA6gmtff1


105. Define a radian.

Watch Video Solution

106. Define one steraedian(S.I standard for solid angle)

Watch Video Solution

107. Obtain the value of 1 radian.

Watch Video Solution

https://dl.doubtnut.com/l/_kHSFA6gmtff1
https://dl.doubtnut.com/l/_Z2L9voLeIrP5
https://dl.doubtnut.com/l/_n4CIuhExyNbO
https://dl.doubtnut.com/l/_G3sR5OS46PGi
https://dl.doubtnut.com/l/_yXYV9G9EWA7Q


108. Name the supplementary units converted into

derived units.

Watch Video Solution

109. Where do we use indirect methods to measure

distance ?

Watch Video Solution

110. Name the method used in the determination of

very large distances.

Watch Video Solution

https://dl.doubtnut.com/l/_yXYV9G9EWA7Q
https://dl.doubtnut.com/l/_nqq7Q6Xt4LSR
https://dl.doubtnut.com/l/_AZlUaWGdacB2


111. What do you understand by the term parallax

angle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_AZlUaWGdacB2
https://dl.doubtnut.com/l/_KVrFRxZWHhnt


112. How many Astronomical units are there in one

light year? 

Given Data: 

1 Astronomical unit  


1 light year 

Watch Video Solution

= 1.496 × 1011m

= 9.46 × 1015m

113. Define a Astronomical Unit.

Watch Video Solution

https://dl.doubtnut.com/l/_oDntzkp19mTD
https://dl.doubtnut.com/l/_fj4Ad9nCIuvY


114. What is parsec? (or) Define one parsec (parallactic

second)

Watch Video Solution

115. Define mass

Watch Video Solution

116. Name the instrument to measure sub- atomic

particles.

Watch Video Solution

https://dl.doubtnut.com/l/_HCir5MKBEeeF
https://dl.doubtnut.com/l/_C0KDr7Atcgxd
https://dl.doubtnut.com/l/_a4XnvxxHLToc


117. Define the SI unit of time. (or) What is one second

in SI system of units?

Watch Video Solution

118. List few instruments to measure time.

Watch Video Solution

119. What is an error? Name the three Errors in

Measurement.

Watch Video Solution

https://dl.doubtnut.com/l/_iPpymcbKcQmC
https://dl.doubtnut.com/l/_D2q26a8O7VSL
https://dl.doubtnut.com/l/_yWpYY48TRMHR


120. What do you understand by term error in

measurements ?

Watch Video Solution

121. What is Absolute Error.

Watch Video Solution

122. What is Mean Absolute error?

Watch Video Solution

https://dl.doubtnut.com/l/_whBNXNgJAtxy
https://dl.doubtnut.com/l/_qJ5XKxBmHhut
https://dl.doubtnut.com/l/_QgFKPu335FZ9
https://dl.doubtnut.com/l/_Pr4yc6IbWEMr


123. What is Relative error?

Watch Video Solution

124. What is Percentage error?

Watch Video Solution

125. What is significant figures?

Watch Video Solution

https://dl.doubtnut.com/l/_Pr4yc6IbWEMr
https://dl.doubtnut.com/l/_SiZXC6DVUqHN
https://dl.doubtnut.com/l/_inPblXzZtvJ0


126. What is menat by the dimensions of a physical

quantity?

Watch Video Solution

127. What is meant by dimensional formula ?

Watch Video Solution

128. What is dimensiional equation? Given an example.

Watch Video Solution

https://dl.doubtnut.com/l/_jDMvXldyEfg3
https://dl.doubtnut.com/l/_tNRObDpNAfiJ
https://dl.doubtnut.com/l/_iyW9yzQqyViR


Other Important Questions Answers Iii Short Answer

Questions

1. What is meant by Parallax?

Watch Video Solution

2. What is menat by Scientific method?

Watch Video Solution

3. What are the two approaches to be applied while

studying physics ? Give suitable example for each.

W t h Vid S l ti

https://dl.doubtnut.com/l/_TNmI9J3aWSMO
https://dl.doubtnut.com/l/_iHMOykpEmuLn
https://dl.doubtnut.com/l/_zUPy5DesOKSA


Watch Video Solution

4. Write a note on scope of physics.

Watch Video Solution

5. How is physics learning really exiting ?

Watch Video Solution

6. ''Technological advancements owe a great deal to

the developments in physics'' - Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_zUPy5DesOKSA
https://dl.doubtnut.com/l/_Inm66u07ozBo
https://dl.doubtnut.com/l/_kcuMWdE81HGq
https://dl.doubtnut.com/l/_Vqu2W47Tzye4


7. What do you understand by the term measurement

? Explain with example.

Watch Video Solution

8. What is the Relation between radians and degrees ?

Watch Video Solution

9. Distinguish between macrocosm and microcosm.

Watch Video Solution

https://dl.doubtnut.com/l/_Vqu2W47Tzye4
https://dl.doubtnut.com/l/_65KyswxTnii6
https://dl.doubtnut.com/l/_xThLjXTdCyCs
https://dl.doubtnut.com/l/_6Kim9adGEzq1
https://dl.doubtnut.com/l/_miI3akZIAtj7


10. What are the advantages of SI system?

Watch Video Solution

11. State the rules for finding the significant figures in

the addition and subtraction of two numbers, with

example.

Watch Video Solution

12. State the rules for finding the significant figures in

the multiplication and division of two numbers, with

example.

https://dl.doubtnut.com/l/_miI3akZIAtj7
https://dl.doubtnut.com/l/_jnojkGqnJRnc
https://dl.doubtnut.com/l/_3BhLI347q464


Watch Video Solution

13. What is meant by Parallax?

Watch Video Solution

14. What is scientific method ? List the various stages

involved in it.

View Text Solution

15. What are the two approaches to be applied while

studying physics ? Give suitable example for each.

https://dl.doubtnut.com/l/_3BhLI347q464
https://dl.doubtnut.com/l/_l6tnioicGQC6
https://dl.doubtnut.com/l/_p99hLSxM5dRh
https://dl.doubtnut.com/l/_PQkbqGP3WHBD


Watch Video Solution

16. Write a note on scope of physics.

Watch Video Solution

17. How is physics learning really exiting ?

Watch Video Solution

18. ''Technological advancements owe a great deal to

the developments in physics'' - Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_PQkbqGP3WHBD
https://dl.doubtnut.com/l/_lphvZiNZbor8
https://dl.doubtnut.com/l/_oGBR8tAwr1xP
https://dl.doubtnut.com/l/_twQ3vNstRgWh


Watch Video Solution

19. What do you understand by the term

measurement ? Explain with example.

Watch Video Solution

20. Derive the relations between radian, degree and

minute.

Watch Video Solution

21. Distinguish between macrocosm and microcosm.

W t h Vid S l ti

https://dl.doubtnut.com/l/_twQ3vNstRgWh
https://dl.doubtnut.com/l/_cXaFw0xNUXPO
https://dl.doubtnut.com/l/_mu3cozqcAxuv
https://dl.doubtnut.com/l/_92y89kDagHLd


Watch Video Solution

22. What are the advantages of SI system?

Watch Video Solution

23. State the rules for finding the significant figures in

the addition and subtraction of two numbers, with

example.

Watch Video Solution

https://dl.doubtnut.com/l/_92y89kDagHLd
https://dl.doubtnut.com/l/_yWUHE1i4Rh0j
https://dl.doubtnut.com/l/_o6YQ3XamprFD


Other Important Questions Answers Iv Long Answer

Questions

24. State the rules for finding the significant figures in

the multiplication and division of two numbers, with

example.

Watch Video Solution

1. How will measure the diameter of the Moon using

parallax method?

Watch Video Solution

https://dl.doubtnut.com/l/_QaolSWRBaNB6
https://dl.doubtnut.com/l/_jf9nQtIUxeGH
https://dl.doubtnut.com/l/_bSlALcR9Sho3


2. If energy (E), velocity (V) and time (T) are
chosen as

the fundamental quantities, the
 dimensional formula

of surface tension will be:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[EV − 1T − 2]

[EV − 2T − 2]

[E − 2V − 1T − 3]

[EV − 2T − 1]

3. What are the rule for rounding off a number?

https://dl.doubtnut.com/l/_bSlALcR9Sho3
https://dl.doubtnut.com/l/_JArcKkym2XLf


Watch Video Solution

4. If dimensions of critical velocity of a liquid 

flowing through a tube are expressed as
 ,

where ,  and  are the coefficient
 of viscosity of

liquid, density of liquid and
 radius of the tube

respectively, then the values
of ,  and  are given by

:

A. -1,-1,1

B. -1,-1,-1

C. 1, 1, 1

D. 1,-1,-1

vc

[ηxρyrz]

η ρ r

x y z

https://dl.doubtnut.com/l/_JArcKkym2XLf
https://dl.doubtnut.com/l/_QuNWlXdXl7Bu


Answer: D

Watch Video Solution

5. How will you measure the diameter of the Moon

using parallax method?

Watch Video Solution

6. Explain the propagation of errors in subtraction,

quotient and power of a quantity.

Watch Video Solution

https://dl.doubtnut.com/l/_QuNWlXdXl7Bu
https://dl.doubtnut.com/l/_GzL3dXnixkAK
https://dl.doubtnut.com/l/_bER1sahJQSFK
https://dl.doubtnut.com/l/_KfxSaVXpaH5f


Other Important Questions Answers V Numerical

Problems

7. Write the rules of ''Rounding off'' with example.

Watch Video Solution

8. How can we classify variables and constants based

on dimension. Give example for each type?

Watch Video Solution

https://dl.doubtnut.com/l/_KfxSaVXpaH5f
https://dl.doubtnut.com/l/_9spVHmX6M4u9


1. The density of material is  express it in

S.I. units.

Watch Video Solution

0.6 g cm − 3

2. Convert an acceleration of  into an .

Watch Video Solution

5 kmh− 2 s− 2

3. Calculate the angle of 

(i)  in radius. 


Watch Video Solution

1∘  (degree)

Use 360∘ = 2π  rad, 1∘ = 60∘ and 1' = 60' '

https://dl.doubtnut.com/l/_9jcSXnhdYeFR
https://dl.doubtnut.com/l/_p7tep6Y5BknX
https://dl.doubtnut.com/l/_mtAAnvqvXoBn


4. Calculate the angle of 

(ii) 1' (minute of arc or arc min) in radius. 

Watch Video Solution

Use 360∘ = 2π  rad, 1∘ = 60∘ and 1' = 60' '

5. The dimensions of  are

A. 

B. 

C. 

D. 

(μ0ε0) − 1
2

[L T − ]
1
2

1
2

[L− 1T ]

[LT − 1]

[L− T ]
1
2

1
2

https://dl.doubtnut.com/l/_mtAAnvqvXoBn
https://dl.doubtnut.com/l/_82XhDAtND1A7
https://dl.doubtnut.com/l/_a6nvuBiP8Bqr


Answer: C

Watch Video Solution

6. The angular diameter of the sun is 1920''. If the

distance of the sun from the earth is ,

what is the linear diameter of the sun?

Watch Video Solution

1.5 × 109m

7. The angular diameter of the sun is 1920''. If the

distance of the sun from the earth is ,

what is the linear diameter of the sun?

1.5 × 1012m

https://dl.doubtnut.com/l/_a6nvuBiP8Bqr
https://dl.doubtnut.com/l/_cCIRyaDdKzpO
https://dl.doubtnut.com/l/_mpRYa9Hs1aZt


Watch Video Solution

8. The length of a rod as measured in an experiment

was found to be 3.48, 3.46, 3.49m, 3.50m and 3.48m.

Find the average length, the absolute error in each

observation and percentage error.

Watch Video Solution

9. A body travels uniformly a distance of

 in a time . Determine

velocity of the body within error limits.

Watch Video Solution

(13.8 ± 0.2)m (4.0 ± 0.3)s

https://dl.doubtnut.com/l/_mpRYa9Hs1aZt
https://dl.doubtnut.com/l/_Pyk8CyE6pMFy
https://dl.doubtnut.com/l/_xmuu3MvZhdQs


10. The percentage errors in the measurement of

length and time period of a simple pendulum are

 respectively. Then find the maximum

error in the measurement of acceleration due to

gravity.

Watch Video Solution

2 % and 3 %

11. In the formula,  D -

Diffusion coefficient,  is number of molecules

in unit volume along  which represents

distances where N is number of molecules passing

N = − D[ ],
n2 − n1

x2 − x1

n1 and 2

x1 and x2

https://dl.doubtnut.com/l/_RJZYUBYLh10W
https://dl.doubtnut.com/l/_AcSDPGZXn0aD


through per unit area per unit time. Calculate

dimensions of D.

Watch Video Solution

12. The resistance , where 

. Find the

percentage error in R.

Watch Video Solution

R =
V

I

V = 500 ± 5V and I = 10 ± 0.5A

13. The percentage of error in the measurement of

mass and speed are  respectively. How

much will be the maximum error in the estimating

4 % and 5 %

https://dl.doubtnut.com/l/_AcSDPGZXn0aD
https://dl.doubtnut.com/l/_FI7j1gEgUa3T
https://dl.doubtnut.com/l/_d83CjTriHfcg


kinetic energy obtained by measuring mass and

speed?

Watch Video Solution

14. If the length and tiome period of an oscillating

pendulum have errors of 1% and 3% respectgively

then the error in measurement of acceleratinon due

to gravity is

Watch Video Solution

15. The heat dissipated in a resistance can be

determined by measuring resistance current and time.

https://dl.doubtnut.com/l/_d83CjTriHfcg
https://dl.doubtnut.com/l/_K7gUgKJJaEfZ
https://dl.doubtnut.com/l/_TR6a1HviJUq0


If the maximum error in the above quantities are

 respectively. Then calculate the

maximum error in the determination of the dissipated

heat?

Watch Video Solution

2 % , 3 % and 6 %

16. The relative density of a material is found by

weighing the body first in air and then in water. If the

weight in air is  and weight and water

is , what would be the maximum

percentage error in relative density?

Watch Video Solution

(20.0 ± 0.1)N

(10.0 ± 0.1)N

https://dl.doubtnut.com/l/_TR6a1HviJUq0
https://dl.doubtnut.com/l/_PLl8uvWtG5el
https://dl.doubtnut.com/l/_hx6Z8OD90jlE


17. Round off the following numbers are indicated ? (i)

18.35 upto 3 digits

Watch Video Solution

18. Round off the following numbers are indicated ?

(ii) 143.45 upto 4 digits

Watch Video Solution

19. Round off the following numbers are indicated ?

(iii) 18967 upto 3 digits

Watch Video Solution

https://dl.doubtnut.com/l/_hx6Z8OD90jlE
https://dl.doubtnut.com/l/_4t2t4Vfmyebv
https://dl.doubtnut.com/l/_0mvuf5YjVnnA


20. Round off the following numbers are indicated ?

(iv) 12.653 upto 3 digits

Watch Video Solution

21. Round off the following numbers are indicated ?

(v) 248337 upto 3 digits

Watch Video Solution

22. Round off the following numbers are indicated ?

(vi) 321.135 upto 5 digits

https://dl.doubtnut.com/l/_0mvuf5YjVnnA
https://dl.doubtnut.com/l/_bpkFJesy5vC9
https://dl.doubtnut.com/l/_pKRxYckMoKbe
https://dl.doubtnut.com/l/_0iWDeNVq3J7z


Watch Video Solution

23. Round off the following numbers are indicated ?

(vii)  upto 4 digits

Watch Video Solution

101.55 × 106

24. Round off the following numbers are indicated ?

(viii)  unto 4 digits.

Watch Video Solution

31.325 × 10− 5

https://dl.doubtnut.com/l/_0iWDeNVq3J7z
https://dl.doubtnut.com/l/_oRH25hgU3tzf
https://dl.doubtnut.com/l/_YmL2n7ehAihv


25. Add 7.21, 12.141 and 0.0028 and express the result

to an appropriate number of significant figures.

Watch Video Solution

26. Solve the following and express the result to an

appropriate number of significant figures. 

(i) Add 6.2g, 4.33g and 17.456g

Watch Video Solution

27. Solve the following and express the result to an

appropriate number of significant figures. 

https://dl.doubtnut.com/l/_EHYkfn6CcHae
https://dl.doubtnut.com/l/_cLA1eg4LYLO1
https://dl.doubtnut.com/l/_KLMI7ODCDqeL


(ii) Subtract 63.54 kg from 187.2 kg

Watch Video Solution

28. Solve the following and express the result to an

appropriate number of significant figures. 

(iii) 

Watch Video Solution

75.5 × 125.2 × 0.51

29. Solve the following and express the result to an

appropriate number of significant figures. 

(vi) 

Watch Video Solution

2.13 × 24.78

485.2

https://dl.doubtnut.com/l/_KLMI7ODCDqeL
https://dl.doubtnut.com/l/_hSyL4tH9n2Hf
https://dl.doubtnut.com/l/_SvPgkZjEQ2MV


Watch Video Solution

30. Solve the following and express the result to an

appropriate number of significant figures. 

(v) 

Watch Video Solution

2.51 × 10− 4 × 1.81 × 107

0.4463

31. Find the number of erg in one Joule.

Watch Video Solution

https://dl.doubtnut.com/l/_SvPgkZjEQ2MV
https://dl.doubtnut.com/l/_7FLR6VsYzsO3
https://dl.doubtnut.com/l/_2FuWgAQKQSQk


32. Value of acceleration due to gravity is .

Find its value in .

Watch Video Solution

9.8m/sec2

km/hr2

33. Density of oil is . Find its value in MKS

system.

Watch Video Solution

0.8gm/cm3

34. The kinetic energy of rotation K depends on the

angular momentum J and moment of inertia I. Find

the expression for kinetic energy.

https://dl.doubtnut.com/l/_9gAJJODhx3aF
https://dl.doubtnut.com/l/_2JGY7AYX0gzV
https://dl.doubtnut.com/l/_pnIINrIAihka


Watch Video Solution

35. The percentage of error in the measurement of

mass and speed are  respectively. How

much will be the maximum error in the estimating

kinetic energy obtained by measuring mass and

speed?

Watch Video Solution

5 % and 8 %

36. Deduce the dimensional formulae of the following

physical quantities. (i) Heat

Watch Video Solution

https://dl.doubtnut.com/l/_pnIINrIAihka
https://dl.doubtnut.com/l/_rWx0a3EvSfoG
https://dl.doubtnut.com/l/_dp0b43PsL6DC


37. The percentage of error in the measurement of

mass and speed are  respectively. How

much will be the maximum error in the estimating

kinetic energy obtained by measuring mass and

speed?

Watch Video Solution

7 % and 9 %

38. Deduce the dimensional formulae of the following

physical quantities. (iii) latent heat

Watch Video Solution

https://dl.doubtnut.com/l/_dp0b43PsL6DC
https://dl.doubtnut.com/l/_et65WAmzz71Q
https://dl.doubtnut.com/l/_obWeoNrx2KPJ
https://dl.doubtnut.com/l/_8u1VHV7kXFO5


39. The percentage errors in the measurement of

length and time period of a simple pendulum are

 respectively. Then find the maximum

error in the measurement of acceleration due to

gravity.

Watch Video Solution

3 % and 6 %

40. Deduce the dimensional formulae of the following

physical quantities. (v) Boltzmann's constant

Watch Video Solution

https://dl.doubtnut.com/l/_8u1VHV7kXFO5
https://dl.doubtnut.com/l/_vWA7MavMnp14


41. The dimension of , where  is permittivity

of free space and  is electric field is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ε0E
21

2
ε0

E

[ML2T − 2]

[ML− 1T − 2]

[ML2T − 1]

[MLT − 1]

https://dl.doubtnut.com/l/_d2yIK5F3IOzd


42. Deduce the dimensional formulae of the following

physical quantities. (vii) mechanical equivalent of heat.

Watch Video Solution

43. If force , velocity  and time  are taken as

to fundamental units then the dimensions of mass

are

Watch Video Solution

|F | |v| |T |

44. The value G is CGS system is  dyne 

. Calcualte the value in SI units.

6.67 × 10− 8

cm2g− 2

https://dl.doubtnut.com/l/_hZPIIxkPk6Km
https://dl.doubtnut.com/l/_e3TER8HmYuKV
https://dl.doubtnut.com/l/_2EQ5o4fRZjFs


Watch Video Solution

45. If the units of force, energy and velocity are 20N,

200J and , find the unit of length, mass time.

Watch Video Solution

5ms− 1

46. If the dimensions of a physical quantity are
 given

by , then the physical quantity will
be:

A. Velocity if a = 1, b = 0, c = -1

B. Acceleration if a = 1, b = 1, c = -2

C. Force if a = 0, b= -1, c = -2

M aLbT c

https://dl.doubtnut.com/l/_2EQ5o4fRZjFs
https://dl.doubtnut.com/l/_P1Mp0LrwzH4o
https://dl.doubtnut.com/l/_zJir8OUgRXpy


D. Pressure if a = 1, b = -1, c = -2

Answer: D

Watch Video Solution

47. Dimensions of resistance in an electrical
circuit, in

terms of dimension of mass [M], of
 length [L], of time

[T) and of current [I], would
be

A. 

B. 

C. 

D. 

[ML2T − 2]

[ML2T − 1I − 1]

[ML2T − 3I − 2]

[ML2T − 3I − 1]

https://dl.doubtnut.com/l/_zJir8OUgRXpy
https://dl.doubtnut.com/l/_LH9kZpfahgZV


Answer: C

Watch Video Solution

48. Find the dimensions of a/b in the equation.

 where F is force, x is distance and t is

time.

View Text Solution

F = a√x + bt2

49. In the equation :  t and x

stand for time and distnace respectively. Obtain the

dimensional formula for  and k.

y = a sin(ωt − kx),

ω

https://dl.doubtnut.com/l/_LH9kZpfahgZV
https://dl.doubtnut.com/l/_o9y1sh0Fcita
https://dl.doubtnut.com/l/_VhNw0ZgPnAtL


View Text Solution

50. A planet moves around the sun in nearly circular

orbit. Its period of revolution 'T' depends upon. (i)

radius 'r' or orbit, (ii) mass 'm' of the sun and. (iii) The

gravitational constant G show dimensionally that

.

Watch Video Solution

T 2 ∝ r3

51. The escape velocity v of a body depends upon (i)

the acceleration due to gravity of the planet and (ii)

the radius of the planet R. Establish dimensionally the

relationship between v, g and R.

https://dl.doubtnut.com/l/_VhNw0ZgPnAtL
https://dl.doubtnut.com/l/_4xqFasC8Dbry
https://dl.doubtnut.com/l/_SQehklu5vgTX


View Text Solution

52. The density of material is  express it in

S.I. units.

Watch Video Solution

0.6 g cm − 3

53. Convert an acceleration of  into cms^(-2)`.

Watch Video Solution

3 kmh− 2

54. Calculate the angle of 

(i)  in radius. 
1∘  (degree)

https://dl.doubtnut.com/l/_SQehklu5vgTX
https://dl.doubtnut.com/l/_3Y2qKESLJGzU
https://dl.doubtnut.com/l/_aUi3QlEXi34I
https://dl.doubtnut.com/l/_AJjUhbWN4cvj


Watch Video Solution

Use 360∘ = 2π  rad, 1∘ = 60∘ and 1' = 60' '

55. Calculate the angle of 

(ii) 1' (minute of arc or arc min) in radius. 

Watch Video Solution

Use 360∘ = 2π  rad, 1∘ = 60∘ and 1' = 60' '

56. Calculate the angle of 

(iii) 1'' (second of arc or arc second) in radius. 

Watch Video Solution

Use 360∘ = 2π  rad, 1∘ = 60∘ and 1' = 60' '

https://dl.doubtnut.com/l/_AJjUhbWN4cvj
https://dl.doubtnut.com/l/_3pNERn1dv68L
https://dl.doubtnut.com/l/_cu1ee6KnZuXQ


Watch Video Solution

57. The angular diameter of the sun is 1920''. If the

distance of the sun from the earth is ,

what is the linear diameter of the sun?

Watch Video Solution

1.5 × 1011m

58. Which of the following measurements is most

precise?

Watch Video Solution

https://dl.doubtnut.com/l/_cu1ee6KnZuXQ
https://dl.doubtnut.com/l/_UJW75LMpOQVW
https://dl.doubtnut.com/l/_FssshxgjC10Q


59. The length of a rod as measured in an experiment

was found to be 3.48, 3.46, 3.49m, 3.50m and 3.48m.

Find the average length, the absolute error in each

observation and percentage error.

Watch Video Solution

60. A body travels uniformly a distance of

 in a time . Determine

velocity of the body within error limits.

Watch Video Solution

(13.8 ± 0.2)m (4.0 ± 0.3)s

https://dl.doubtnut.com/l/_19FDPo6RxrZu
https://dl.doubtnut.com/l/_TkEMWOjApEnM


61. The percentage errors in the measurement of

length and time period of a simple pendulum are

 respectively. Then find the maximum

error in the measurement of acceleration due to

gravity.

Watch Video Solution

1 % and 2 %

62. In the formula,  D -

Diffusion coefficient,  is number of molecules

in unit volume along  which represents

distances where N is number of molecules passing

N = − D[ ],
n2 − n1

x2 − x1

n1 and 2

x1 and x2

https://dl.doubtnut.com/l/_xh9aRpRTarSD
https://dl.doubtnut.com/l/_3HJf1nj1z6Gu


through per unit area per unit time. Calculate

dimensions of D.

Watch Video Solution

63. The resistance , where 

. Find the

percentage error in R.

Watch Video Solution

R =
V

I

V = 100 ± 5V and I = 10 ± 0.2A

64. The percentage of error in the measurement of

mass and speed are  respectively. How

much will be the maximum error in the estimating

2 % and 3 %

https://dl.doubtnut.com/l/_3HJf1nj1z6Gu
https://dl.doubtnut.com/l/_dxi6ErkXDL2P
https://dl.doubtnut.com/l/_o8j5stSuL3pZ


kinetic energy obtained by measuring mass and

speed?

Watch Video Solution

65. If the length and time period of an oscillating

pendulum have errors of  respectively,

what is the error in the estimate of g?

Watch Video Solution

2 % and 5 %

66. The heat dissipated in a resistance can be

determined by measuring resistance current and time.

If the maximum error in the above quantities are

https://dl.doubtnut.com/l/_o8j5stSuL3pZ
https://dl.doubtnut.com/l/_98nke0VFHnrt
https://dl.doubtnut.com/l/_1i67qCJu98pq


 respectively. Then calculate the

maximum error in the determination of the dissipated

heat?

Watch Video Solution

1 % , 2 % and 1 %

67. The relative density of a material is found by

weighing the body first in air and then in water. If the

weight in air is  and weight and water

is , what would be the maximum

percentage error in relative density?

Watch Video Solution

(10.0 ± .01)N

(5.0 ± 0.1)N

https://dl.doubtnut.com/l/_1i67qCJu98pq
https://dl.doubtnut.com/l/_W6JRyz1tk2Ep


68. Round off the following numbers are indicated ? (i)

18.35 upto 3 digits

Watch Video Solution

69. Round off the following numbers are indicated ?

(ii) 143.45 upto 4 digits

Watch Video Solution

70. Round off the following numbers are indicated ?

(iii) 18967 upto 3 digits

Watch Video Solution

https://dl.doubtnut.com/l/_cBYNGZIy5BaE
https://dl.doubtnut.com/l/_Rzxfuoir3RUa
https://dl.doubtnut.com/l/_RkPYWLMdTqwL


71. Round off the following numbers are indicated ?

(iv) 12.653 upto 3 digits

Watch Video Solution

72. Round off the following numbers are indicated ?

(v) 248337 upto 3 digits

Watch Video Solution

73. Round off the following numbers are indicated ?

(vi) 321.135 upto 5 digits

https://dl.doubtnut.com/l/_RkPYWLMdTqwL
https://dl.doubtnut.com/l/_RzznlSuaOdoV
https://dl.doubtnut.com/l/_Ksuz55YITdms
https://dl.doubtnut.com/l/_QII2wJ1YIgcT


Watch Video Solution

74. Round off the following numbers are indicated ?

(vii)  upto 4 digits

Watch Video Solution

101.55 × 106

75. Round off the following numbers are indicated ?

(viii)  unto 4 digits.

Watch Video Solution

31.325 × 10− 5

https://dl.doubtnut.com/l/_QII2wJ1YIgcT
https://dl.doubtnut.com/l/_ql4uIzfzOhUI
https://dl.doubtnut.com/l/_CMyuW6Y1vVnA


76. Add 7.21, 12.141 and 0.0028 and express the result

to an appropriate number of significant figures.

Watch Video Solution

77. Solve the following and express the result to an

appropriate number of significant figures. 

(i) Add 6.2g, 4.33g and 17.456g

Watch Video Solution

78. Solve the following and express the result to an

appropriate number of significant figures. 

https://dl.doubtnut.com/l/_Xc1DrQeBsCUn
https://dl.doubtnut.com/l/_7BwICRNmwa8f
https://dl.doubtnut.com/l/_vK6gfWv4nCiw


(ii) Subtract 63.54 kg from 187.2 kg

Watch Video Solution

79. Solve the following and express the result to an

appropriate number of significant figures. 

(iii) 

Watch Video Solution

75.5 × 125.2 × 0.51

80. Solve the following and express the result to an

appropriate number of significant figures. 

(vi) 

Watch Video Solution

2.13 × 24.78

485.2

https://dl.doubtnut.com/l/_vK6gfWv4nCiw
https://dl.doubtnut.com/l/_NHfVWFzApkcB
https://dl.doubtnut.com/l/_SWq4zUdimE6j


Watch Video Solution

81. Solve the following and express the result to an

appropriate number of significant figures. 

(v) 

Watch Video Solution

2.51 × 10− 4 × 1.81 × 107

0.4463

82. Find the number of erg in one Joule.

Watch Video Solution

https://dl.doubtnut.com/l/_SWq4zUdimE6j
https://dl.doubtnut.com/l/_SMbxWrZkEkl4
https://dl.doubtnut.com/l/_MuU3v5y9Eysy


83. Value of acceleration due to gravity is .

Find its value in .

Watch Video Solution

9.8m/sec2

km/hr2

84. Density of oil is . Find its value in MKS

system.

Watch Video Solution

0.8gm/cm3

85. The kinetic energy of rotation K depends on the

angular momentum J and moment of inertia I. Find

the expression for kinetic energy.

https://dl.doubtnut.com/l/_JwHlfgHB0f8Y
https://dl.doubtnut.com/l/_7A9hsDTXjoR3
https://dl.doubtnut.com/l/_qF3YqdLBTILd


Watch Video Solution

86. If the constant of gravitation (G), Planck's constant

(h) and the velocity of light (c ) be chosen as

fundamental units. What is the dimension of the

raidus of gyration?

Watch Video Solution

87. Deduce the dimensional formulae of the following

physical quantities. (i) Heat

Watch Video Solution

https://dl.doubtnut.com/l/_qF3YqdLBTILd
https://dl.doubtnut.com/l/_LMofBO0CU5Dl
https://dl.doubtnut.com/l/_xkgQJnd67PBE
https://dl.doubtnut.com/l/_vC3226Rol3Ma


88. Deduce the dimensional formulae of the following

physical quantities. (ii) specific heat

Watch Video Solution

89. Deduce the dimensional formulae of the following

physical quantities. (iii) latent heat

Watch Video Solution

90. Deduce the dimensional formulae of the following

physical quantities. (iv) gas constant

Watch Video Solution

https://dl.doubtnut.com/l/_vC3226Rol3Ma
https://dl.doubtnut.com/l/_9OJ2YhrGHhYl
https://dl.doubtnut.com/l/_2gXxxcFsonOy


91. Deduce the dimensional formulae of the following

physical quantities. (v) Boltzmann's constant

Watch Video Solution

92. Deduce the dimensional formulae of the following

physical quantities. (vi) coefficient of thermal

conductivity

Watch Video Solution

https://dl.doubtnut.com/l/_2gXxxcFsonOy
https://dl.doubtnut.com/l/_kojsa0LaDXQ4
https://dl.doubtnut.com/l/_zDL2994U5Fnj


93. Deduce the dimensional formulae of the following

physical quantities. (vii) mechanical equivalent of heat.

Watch Video Solution

94. Taking velocity, time and force as the fundamental

quantities, find the dimensions of mass.

Watch Video Solution

95. The value G is CGS system is  dyne 

. Calcualte the value in SI units.

Watch Video Solution

6.67 × 10− 8

cm2g− 2

https://dl.doubtnut.com/l/_aGxKjiTY1Nz8
https://dl.doubtnut.com/l/_hXIIEdQtj4pY
https://dl.doubtnut.com/l/_JgTRgegL7pcz


96. If the units of force, energy and velocity are 20N,

200J and , find the unit of length, mass time.

Watch Video Solution

5ms− 1

97. Check the dimensional consistency of the following

equations. 

(i) de - Broglie wavelength, .

Watch Video Solution

λ =
h

mv

https://dl.doubtnut.com/l/_JgTRgegL7pcz
https://dl.doubtnut.com/l/_5IUmRRXwFObm
https://dl.doubtnut.com/l/_zH4Ukqr07WcN


98. Check the dimensional consistency of the

following equations. 

(ii) Escape velocity, 

Watch Video Solution

v = √
2GM

R

99. Find the dimensions of a/b in the equation.

 where F is force, x is distance and t is

time.

Watch Video Solution

F = a√x + bt2

https://dl.doubtnut.com/l/_MKA5awkgQ4kV
https://dl.doubtnut.com/l/_Z1yHSkE3FEgi


100. In the equation :  t and x

stand for time and distnace respectively. Obtain the

dimensional formula for  and k.

Watch Video Solution

y = a sin(ωt − kx),

ω

101. A planet moves around the sun in nearly circular

orbit. Its period of revolution 'T' depends upon. (i)

radius 'r' or orbit, (ii) mass 'm' of the sun and. (iii) The

gravitational constant G show dimensionally that

.

Watch Video Solution

T 2 ∝ r3

https://dl.doubtnut.com/l/_EL0CzZ7lH89b
https://dl.doubtnut.com/l/_aKtzmOlvLrd5
https://dl.doubtnut.com/l/_HEwVzg2iJZ6W


Other Important Questions Answers Vi Conceptual

Questions

102. The escape velocity v of a body depends upon (i)

the acceleration due to gravity of the planet and (ii)

the radius of the planet R. Establish dimensionally the

relationship between v, g and R.

Watch Video Solution

1. Is the measure of an angle dependent upon the unit

of length?

View Text Solution

https://dl.doubtnut.com/l/_HEwVzg2iJZ6W
https://dl.doubtnut.com/l/_H4L2jpe0b4mf


2. Explain the principle of homogeneity of dimensions.

What are its uses? Given example.

Watch Video Solution

3. The velocity v of a particle at time t is given by

 where a, b and c are constant.
 The

dimensions of a, b and c respectively are

A. 

B. 

C. 

D. 

v = at +
b

t + c

[L2, T and LT 2]

[LT 2, LT and L]

[L, LT and T 2]

[LT − 2, L and T ]

https://dl.doubtnut.com/l/_AFAw1qthZA1q
https://dl.doubtnut.com/l/_vV92SlgkxZRS


Answer: D

Watch Video Solution

4. The dimensions of Planck's constant are same as

A. Energy

B. Power

C. Momentum

D. Angular momentum

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vV92SlgkxZRS
https://dl.doubtnut.com/l/_ZrIukGHvlG7P


5. The dimensional formula for energy is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

[ML2T − 2]

[ML− 2T − 2]

[ML2T − 3]

[MLT − 1]

6. The dimensional formula for velocity is

A. [MLT − 2]

https://dl.doubtnut.com/l/_TZ31jeuot1A5
https://dl.doubtnut.com/l/_5Ouc8rT642fB


B. 

C. 

D. 

Answer: C

Watch Video Solution

[M − 1L3T − 2]

[M 0LT − 1]

[MLT − 3]

7. State any three physical quantities having same

dimensions and their dimension.

View Text Solution

https://dl.doubtnut.com/l/_5Ouc8rT642fB
https://dl.doubtnut.com/l/_ox8PuUKPFmPe


8. The dimensional formula for acceleration is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[MLT − 2]

[M 0LT − 2]

[MLT 2]

[MLT − 3]

9. How many light years are there in one meter?

View Text Solution

https://dl.doubtnut.com/l/_witTn9LJQKuh
https://dl.doubtnut.com/l/_ZtcE5gkcVt20


10. The dimensional formula for force is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[MLT − 1]

[MLT − 2]

[MLT 2]

[MLT − 3]

https://dl.doubtnut.com/l/_ZtcE5gkcVt20
https://dl.doubtnut.com/l/_94wMX65b3HrN


11. Is the measure of an angle dependent upon the

unit of length?

Watch Video Solution

12. What is the basis of the principle of homogeneity

of dimensions?

Watch Video Solution

13. Can a quantity have dimensions but still has no

units?

Watch Video Solution

https://dl.doubtnut.com/l/_y5zzxRJX9Pd5
https://dl.doubtnut.com/l/_JqR73UXzaA7d
https://dl.doubtnut.com/l/_6UVGzUh4NVEu


14. Can a quantity have units but still be

dimensionless?

Watch Video Solution

15. Why have scientists and engineers all over the

world agreed to use SI units?

Watch Video Solution

16. While deriving the relationship between physical

quantities by dimensional analysis, dimensionless

https://dl.doubtnut.com/l/_6UVGzUh4NVEu
https://dl.doubtnut.com/l/_wD7IpGvCsZ9S
https://dl.doubtnut.com/l/_1zqhGreZetKC
https://dl.doubtnut.com/l/_ejhPJpgYU3PN


constant enters into the relationship. Can you find its

magnitude by the method of dimensions?

Watch Video Solution

17. State any three physical quantities having same

dimensions and their dimension.

Watch Video Solution

18. What is the estimated radius of the universe?

Watch Video Solution

https://dl.doubtnut.com/l/_ejhPJpgYU3PN
https://dl.doubtnut.com/l/_WGDGiGvYpsZ7
https://dl.doubtnut.com/l/_xT8i3ywc5xax
https://dl.doubtnut.com/l/_eLvB2EcTTNrh


19. How many light years are there in one meter?

Watch Video Solution

20. The period of oscillation of a simple pendulum is

given by . In finding the value of g, which

quantity should be measured most accurately and

why?

Watch Video Solution

T = 2π√
l

g

https://dl.doubtnut.com/l/_eLvB2EcTTNrh
https://dl.doubtnut.com/l/_3pz6Sdb5sBjn

